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The following Table-1 shows the readership of Hindi (H) and English (E) magazines (in lakh) of
four different categories, namely, General, Sports, Film, and Business from the year 2020 to 2023
and Table-2 shows the number of Hindi (H) and English (E) magazine of same four categories
published during the same period. No magazine was discontinued during the above mentioned

period. Based on the data in the tables, answer the questions that follows:

Table-1: Categorv-wise details of Readership of Magazines (in Lakh),

Number of Magazine Readers (in lakh) in the vear

Category 2020 2021 2022 2023
E H E H E H E H
General | 2.0 | 24 | 26 32 40 | 36 | 50| 40
Sports 08|04 12 0.8 20114 24| 16
Film 12 ] 16 | 19 25 20 ) 30| 24| 36
Business | 0.6 | 03 | 08 0.32 12 1 05| 16 | 1.0

Table-2: Category-wise Details of Publication of Magazines
Number of Magazines Published in the Year
Category 2020 2021 2022 2023
E H E H E H E H
General | 24 | 20 | 30 | 28 | 34 | 30 | 38 | 32
Sports 6 4 10 ] 6 14 | B 16 | 12
Film 6 g 0] 12110] 14 ) 12] 16
Busniess | 8 4 10 4] 12 8§ 14 1 16

Sub questions

Question Number : 1 Question Id : 3421238576 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

What is the approximate average readership per magazine in 20227

1. 13615

]

. 14600

3. 12805

4. 15715

Options :

1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 3421238577 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
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The difference between the number of magazines published in 2022 and 2020 is.

L.

[

4.

0

A

h
-2

h
L=y}

Options :

1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 3421238578 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

From the year 2020 to 2021, if P is the difference between the number of Hindi magazines and Q
1s the difference between the number of English magazines published then P : Q is.

I

k2

4.

2

-2

Options :

1.1
2.2
3.3
4.4

: 3

[

Question Number : 4 Question Id : 3421238579 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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In the year 2021, as against the year 2020, the number of readers per magazine declined for the
category of magazine.

. General

(]

. Sports
3. Business

4. Film

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 3421238580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Considering only the English sports magazines, the ratio between the number of readers in 2020
to the number of readers during 2020 to 2023 is.

l:2:i

B
fa—
ws]

T
(g

s 15

Aol
Options :
1.1
2.2
3.3
4.4

Question Id : 3421238575 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 4/173



8/29/24, 9:54 AM

g28.digialm.com/CAE/viewHtmIPDFAction.action

difetdt 1 |, 98 2020 Y 2023 dd G, W, (hed 9 AR & IR 47 9ot 7 i8St (1) 3R
S (B) URASHISH & UIadh| &f @1 (dd H) Sl 75 g 3R difdd 2 § 3491 3@y &

GRM 3l 9R Aol & gaiiRd &< (1) 3R SEiel (8) ufFdmrsi & W g2l 18 gl

difdimT3dl H Uad S1el & ATYRW, 3 & U & IR Sl

difcTant — 1 UBieTsil & uras| &l Yullar fqaur (o o)
T4 H gi@Tel & Ued! & 9 (@nE 1)
goft | 2020 2021 2022 2023
E|H|E|H|E|H|E|H
aFa | 20|24 26| 32 |40]36] 50|40
od |08 |o04]12] 08 [20]14]|24]16
fper |12 16|19 25 [20] 3024356
R |06 |03 os|os32|12]05]16]1.0

difcre — 2 T & UHTH &1 4R e
LR CAIEGR ECARI AR e

goft | 2020 | 2021 | 2022 | 2023
E|lg|eE|u|E|B|E]|H
oA |24 | 20 (30 |28 |34 |30 58] 32
Td | 6|4 |1w0]6|1a]s8]16]12
o | 6|8 |1w0|12|10]14)12]16
amur | 8|4 |1w0]6 12|88 |14]16

Sub questions

Question Number : 1 Question Id : 3421238576 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

ay 2022 H Ufd GRS TTHIT 3(19d UTd S e fdhaHi g2

1. 13615

(]

. 14600

3. 12805

4. 15715

Options :
1.1
2.2
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3.3
4.4

Question Number : 2 Question Id : 3421238577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gy 2022 3R Y 2020 H UGN BT &1 TS & &g &1 2fd? fhd1 g2

1. 50

Lh

3]
N
=

¥ ¥]
h
[R]

4.

A
L=y}

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 3421238578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gy 2020 ¥ 2021 dP Al USRI fgal UHAS13M &I WAl o dfld 1 3R P g IR Q 3iUsl &
U UGBTI Bl W b dld BT fRg A P: Qg

L3
2.1.:2
3.1: 1
4.2:1

Options :

1.1

2.2

3.3

4.4

Question Number : 4 Question Id : 3421238579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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%ﬁzn:ﬂﬁ@aﬂﬁaﬁzﬁzlﬁﬁ?ﬁﬁ%%ﬂﬂﬂﬁﬁ%ﬁﬂﬁﬁwﬁﬁw%

1. HIHY
2. 9d

3. 4R
4. fther

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 3421238580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3RS Wl UlH13Ml &b ATH H, a8 2020 H UTdd 9T 3R a8 2020 9 2023 & did &I UI6H
e & ol BT 3uUrd fab =1 g2

L2 9

[
fa—
oo

15

tad
(g

4.
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123340
Question Shuffling Allowed : Yes

I
h

Question Number : 6 Question Id : 3421238581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which component of Baddeley's basic working memory model is involved in the task of pressing
keys on a keypad in a clockwise pattern?

1. Visuospatial sketchpad
2. Bounded rationality
3. Phonological loop

4. Metacognition
Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 3421238581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

d3d & HYARYd HEAHIYD RHeid b1 SIH-G ued duilucd (bl Us) R Hiowl (1) Pl
claoad (B dIgs) Yo H ga- & S H XA g2

L. fasfairefRme whats

[

2. UREg Jfsdriad

3. WS qu

4. ATGFE (HeTHIHIRH)

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 3421238582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 8/173



8/29/24, 9:54 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
Which of the Swayamprabha channels are dedicated to higher education in various disciplines?

A. Channel 01
B. Channel 13
C. Channel 18
D. Channel 27
E. Channel 38

Choose the correct answer from the options given below:

l.A. D and E only

b2

. C and E only
3.A.Band C only

4. B, C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 3421238582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad § 9 $1H U WUy < 3y flawal § 3= [2ren & fou gafid g2

A. 994 01
B. d9d 13
C.d9d 18
D. 99d 27
E. d-d 38

1 feu U fas ettt # 9 F1 IR &1 99 DI
1.had A, D 3R E
2. Hdd C ARE
3. ®Hdd A, B AR C
4. HddA B, C.D

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 9/173
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2.2
3.3
4.4

Question Number : 8 Question Id : 3421238583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the primary goals of PM e-Vidya?

A. To provide free text-books to all students

B. To facilitate multi mode access to digital/online teaching-learning content
C. To offer scholarships to topper students

D. To facilitate the uniqueness with its comprehensive accessibility for all

E. To benefit learners in remote areas where stable internet is not available

Choose the correct answer from the options given below:

1. A, CandE only
2. A.Dand E only
3.B.D and E only

4. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 3421238583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FgfeiRad 9 9 &Y U1.uH 3. {9 & Uidiis deg g2
A. Gt faeniéiat &1 f:30eh Ured Qe UeH BTl

B. fSfSTed/siars fremr - 3iferm fawgayg

ddh Sgide T & Wil § Ygrd gl

C. 3= 3 T faeqfdal &t SEghkaat &1l
D. Yl & et g Il & 3HRKEUA o Ggrid gl
E. 39 X% &1 | i disi ol oy UgdHI, Sigi fRR ge3-e Iudsy gl g

i fu U fad el § 9 @81 IR &l 994 Diflu;

1. Had A, C R E

2. BAd A, D JUTE

3. $9d B. D 3R E

4. HadC 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 3421238584 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
Tool/ Softwares Applications
& | Photason i To create Pre-and-post-session polls to gauge student learning from each
sess10n
B. |Mindmeister II. | To create mstant animated videos
C. | Github III. | To understand and make connections between concepts, ideas and information
D. | Mentimeter IV. | To store, share, and work together with others to write code

Choose the correct answer from the options given below:

1. A-IV, B-11, C-1, D-III

2. A-II1, B-11, C-1V, D-1

3. A-IL B-IIL C-1IV, D-1

4. A-I, B-IV, C-1II, D-II

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Options :
1.1
2.2
3.3
4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 9 Question Id : 3421238584 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1% 1Y &I 11 D1 e Hifoe

1 11
il (o)
BH & Udd T3 o HIETH & HIUA g 93 4d Ud G-l HdaH wifud
A, |wrerTE L g
A eHReR I |TenTd Heild (@ e ) fafsgl agr &
filced 11 | uR@eaT, fadRi Ud Ya-1 & 5% G4ioH B Ud G
D. |HdHiex IV. | B8 ferg- gq o1 o H1Y Hae S99, gl &1, B Bl
1 feu U fadedl O 9 WEt SR &1 994 DIl

1. A-IV, B-11, C-1, D-III

2. A-III, B-11, C-1V, D-1

3. A-Il, B-IIIL, C-IV, D-1

4. A-1, B-IV, C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 3421238585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The contents of Swayamprabha Chhanel-16 with the theme of “*Skill and Vocational Education”
are provided by:-

1. CEC, Delhi

(]

. IGNOU, Delhi
3. IIT, Bombay

4. IIT, Kanpur

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 3421238585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WYY I - 16 I [a9ga] fordanT 9o faw (10 <dI<rd 3R ey fer g,
FafIRad gRI1 STy HRaml Sl 6:

1. s ot feedt

2. 39, feeedt

3. 30Ty, 3175 <, i
4. 33 313 1, HHYR

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 3421238586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is the most appropriate for measuring the strength and direction of
assoclation between two interval/ratio variables?

l. Spearman's rho
2. Pearson'sr
3. Phi

4. Eta

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 3421238586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&l SARTTl / U =R & AL HAISH Pl €gdl Ud G2 & A g FHafarad 3 9 o
quicl SUged 62

1. TOTRAT BB (rho)

2. UIRTH & r (3R)

3. Thlg
4.3l

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 3421238587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following methods of graphical representation of data would be useful for showing
trends?

1. Bar charts
2. Line charts
3. Box plants

4. Pie charts

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 3421238587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gqfcal &l fea & feu fAafafad o 9 & 91 Srer sl siieidia Fegur ugfd 3uani gifle
1. IR A1y
2. TR AICH
3. dIdg A1dy
4. T1g A1

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 3421238588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the main preoccupations of qualitative researches.

A. Generalization

B. Description

C. Emphasis on context
D. Flexibility

Choose the correct answer from the options given below:

l.A. B and C only

2

.B, C and D only
3.A.Band D only

4. A. Cand D only
Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 3421238588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IS 2l b1 G AFHUA &I UgdH S

A HHAHI0

B. fdavm

c. dgH W 939 SR
D. ddida-

- feu U fasett # ¥ F81 IR &1 99 DI
1.BdA A, B3R C

HddAB. C3ARD

3.Hdd A, B 3R D

4. HdAA, C3ARD

Options :
1.1
2.2
3.3

t-2
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4.4

Question Number : 14 Question Id : 3421238589 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Covariance L.e Cov (X.Y) and standard deviations of different datasets are given. Estimate the

g28.digialm.com/CAE/viewHtmIPDFAction.action

correlation coefficients and arrange in increasing order

Choose the correct answer from the options given below:

1.A;B,C,D

2.B,C,D,A

3 EDAB

4. D. A B, C
Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 3421238589 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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YEURY (BIART) 311d Cov (X.Y) IR fafHe STeriel & AMS faaed (Ess Sfagzm)
fGUTU S | YgUWERIUD] BT 3fibad B3 3R igTd HH § |

A. C(}v(
B. Cﬂv(
C. Cov(X,

(X,

D. Cov

1< feu MU fadetl # 9§81 IR D1 9 BT
1. A, B,
2.B,C,
3CT;

4.D,A,

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 3421238590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

32, o, =8,0,=7
Y)= x y
) 36 o _lh,c:r_ =5

=33, oy =1, 0,
) 3‘) 0y =6,0,=

C.D

D.A

A B

B.C

Match List I with List I1

List I List IT
Total Sum Squares (TSS) and Residual Sum of Sequences (RSS)|R? of Regression Model
A R85 =25 T88 =60 I 1046
B |RS5=35T88=73 II. 057
C. |[R55=30.T85=70 IIT. | 0.533
D. |R55 =40 T55 =73 IV. | 0.58

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. AL

B-III, C-IV, D-1

3. A-IIT, B-IV, C-1, D-II

4. A-IV, B-111, C-II, D-1

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 3421238590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CAIERIEEIELY

g28.digialm.com/CAE/viewHtmIPDFAction.action

T
@ &1 Fa TR (€ TH TH) 3R a9 BT a1y 0 (31 TH TH)

A |RS5=25TS55=60 I |046
B. |[RS5=35Ts5=T3 I |0.57
C. |R55=30.T55=70 III. | 0.53
D. |RS5=40,T55=T3 IV. | 0.58

A feu U fasedl § U 9gt 3 &1 994 DIoIU:

1. A-L, B-IL C-III, D-IV

2. A-1l, B-1II, C-1V, D-1

3. A-IIL B-IV, C-1, D-II

4. A-IV, B-11I, C-II, D-I

Options :

1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 3421238591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following has been criticized for “*dumbing down’ the news media?

|. Weather broadcasts

t2

. Commercial brochures

3. Magazines

4. Television

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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2.2
3.3
4.4

Question Number : 16 Question Id : 3421238591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafaiad 9 ¥ fhad! YR Hifed & Ak 991 & 96y H &R IR (ST 3169 &
feTQ ST Dt Sl g2

1. HIGH YR

G| CACCNILGAIY
3. 9P

4. TS

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 3421238592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Today mass media exercise enormous

l. Corporate power

t-2

. Ethical might
3. Economic influence

4. Trade unlonism
Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 3421238592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T Hifsar 940 1 {b g DT ggd UahT dd g2
1. PIRURE fe

AifdRS 2l

3. M =fdd

4. YD Afad

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 18 Question Id : 3421238593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the feature of broadecast (first media) age?

A. Decentred

B. One-way communication

C. Many-way communication
D. Pre-disposed to state control
E. An instrument of inequality

Choose the correct answer from the options given below:
1. A B, Conly
2.B,D, E only
3.C.D.E only

4. A, C.Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 3421238593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad 9 9 o I w9Rr (Uyd HiiSan) g ol fa2edm g

A fadbl<sa

B. Uh ] N0

C. gAYl YN

D. Ud - UGUI Y I Bl (g0
E. ST & Uh HIeH

- feu U faded! ¥ FpT IR B 90 HIST:
1.Hdd A, B, C
2. $HddB. D, E
3.$HddC. D, E
4. BT A C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 3421238594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of the emergence of the following concepts.

A. Virtual Communities

B. Cyber Culture

C. Being Digital

D. Tele Computer

E. Interactive Media Culture

Choose the correct answer from the options given below:
1.A,B,C,D,E
2B CDAE
3 DACEB

4.C,D.E.A,B

Options :
1.1
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2.2
3.3
4.4

Question Number : 19 Question Id : 3421238594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAfeRad sraurRuIel & ey & Ul 2P Dl UgdH DI

A. STHTH 9geH
B. gk T (d

c. feforea giAn

D. el SR

E. IRER {111 - fhardd Hifsar 9pid

HId feu 7t [dsedl § ¥ gaT 3R &1 99 SISl

Ay B DV E

[a—

f-2

B, C.,D,AE

L

XA CFE B

4.C,D,E,A,B
Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 3421238595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII

Author Concept
Manuel Castells I |Electronic Nomads
Trevor Barr I1. | Post-Information age

Nicolas Negroponte | III. | Global Village
Marshall McLuhan | IV. | Interactive Media Culture

ola|w|e

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1I, B-III, C-1V, D-1
3. AL B-TV, C-1. D-IT

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 3421238595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

B | =
(HIUTYTM)
T agd | 1 |Soeeie gaana
SR ER 1L | SR - g g
@i Fud= | o |afy® g
AEid Ohded | IV | o= - fparas Hifea gl

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

olo|w|x

b2

. A-II, B-III, C-IV, D-1
3. A-III, B-IV, C-1, D-II

4. A-1V, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 3421238596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the missing term in the series given below. 2, 12, 36. 7. 150

1. 80

t-2

2
3. 100

4. 86
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 3421238596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Al QU U 907 o6 © ot T DT Udl ¢ 2, 12, 36, 2. 150

1. 80

2

T2
3. 100

4. 86

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 3421238597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A certain amount of money deposited in a bank becomes 1008 in 2 years and Z 1164 in 3%

years. Find the amount deposited in the bank and the rate of interest per annum.

1. %700, 12%

B

. X800, 13%
3. €750, 13%

4. 850, 13.5%
Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 3421238597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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dp U SHI 1 18 Bis AR E au 3. lODS:"—QHS%H‘ﬁﬁ? 1164/- B STl g1 §p T o
M2 3R 1t &aTS] &3 DI Il Tl |

1.%. 700, 12%

2

. 800, 13%

L8]

.. 750, 13%

4.%. 850, 13.5%

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 3421238598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If *CAKE’ is coded as 20 and ‘FAIL’ is coded as 28 then how ‘FIRST’ shall be coded?

b
-1
[

4.40
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 3421238598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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G CAKE &I 20 3R FAIL ®1 28 HIS [hdl AT & dl FIRST &1 &1 HIS fhdl SIa?

1.35

-
=]
-

4. 40

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 3421238599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Forty five (45) men can do a job in 16 days. Six days after they started working, 30 more men
joined them. How many days will they now take to complete the remaining work?

1. 5— days

b2 | —

]

. 7 days
3. 5 days

4. 6 days

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 3421238599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl (45) AldT U BRI Dl 16 el H IR Gavd g1 37% SR YR I3 & 36 a1 & 916
I B H 30 Afdd 3R M Bl U1 3(d d HeTd AN B bl R A H fdbd e oo

sifeq
2

[—

7feA
3.5fc¢d
4.6fcH

Options :
1.1
2.2
3.3
4.4

b2

Question Number : 25 Question Id : 3421238600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List 1

List I List IT
Expression Value
0.1x5.5x55.5x0.5 I. 10.00152625

0.01x0.55x5.55x0.05| II. |0.0152625
0.1x0.55x55.5x0.005 | IIL. | 0.152623

0.01x5.5x5.55x0.5 IV. 1152625

ola|w|s

Choose the correct answer from the options given below:
1. A-1, B-II, C-III, D-IV
2. A-IIL, B-IIL C-IV, D-I
3. A-IV. B-1. C-11. D-III

4. A-1V, B-11, C-111, D-1

Options :
1.1
2.2
3.3
4.4
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Question Number : 25 Question Id : 3421238600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y G 11 D1 THAH Pifore
g1 T 1
(®)

0.00152623
0.01x0.55x5.35x0.05| II. |0.0132625

[
=S
]
et
"

Lby
LA
W

LA
LA
LA
bl

[
LA
[

0.1x0.35x555x0.005 | IIT. | 0.152625

262

ofn|w

0.01x5.5x5.55x0.5 v |1

LA
LA

A fGU U A el § 4 I8t IR 1 999 DI,

l. A-L B-IL, C-III, D-IV

]

. A-IIL, B-IIL, C-IV, D-1
3. A-IV, B-1, C-II, D-III

4. A-IV, B-11, C-III, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 3421238601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

* Since all medical practitioners are competent and no competent people are underpaid. Therefore
no medical practitioners are underpaid.” Which fallacy is committed in the above argument?

1. Hasty Generalisation
2. Affirming the consequent
3. Begging the question

4. Undistributed muddle

Options :
1.1
2.2
3.3
4.4
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Question Number : 26 Question Id : 3421238601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i Slael U= ¥ T i ofdd G&m g 3R Bl ol Hem ofdd SeuddiHd -Ig! g, SHiciy
Slaed U Y 31 Bis i Afdd 2ed ddf-id 8! g 1" Sdd db H BI--91 gfdd.-a g2

1. =i gE=fiau
2. Hadid fau

3. TSI GIY
4. 3 gd &N

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 3421238602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement ** All Plants are Carnivorous”, is given as false which of the following statements
can be inferred to be true:

A. Some non-plants are non- carnivorous
B. No Plants are carnivorous

C. Some plants are carnivorous

D. Some plants are not carnivorous

Choose the correct answer from the options given below:

1. C only
2. B and D only
3.D only

4. A, B, C, D only

Options :
1.1
2.2
3.3
4.4
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Question Number : 27 Question Id : 3421238602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfe ~qt gl giaHel 8id § U I 3R |1 SIdl § o (MafeRdd J U g $y &l 9™
AT S 9dhdl g2

A. T8 IR TRAYel gid B
B. Big 4t Uley AigHeh Tl e g
C. TS U1 A4 81 T
D. $3 UIY ARqHel T8 gid B
1 feu T fadedl O 9 F8T 3R D1 99 DifoIT:
. ®ad C

Had B 3R D
&Had D
4. Had A, B.C,D

Options :
1.1
2.2
3.3
4.4

[

[N

Question Number : 28 Question Id : 3421238603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions are Contrary?

A. All cows are herbivores

B. No cows are herbivores

C. Some cows are herbivores

D. Some cows are not herbivores

Choose the cerrect answer from the options given below:

1. Aand C only

[

. A and B only
3. C and D only

4. A and D only
Options :
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1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 3421238603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafead 8§ 9 oH-01 ufoitaal fawia 2

A, T4 T 2 yel gidl B

B. g Hi g TMHHaf TgT BIdl |
C. @ T AHYef gidl ¢
D. §& T A Hel =g gicll|

- feu U faseut # ¥ §87T IR &1 99 DI
1. Hdd A 3R C

had A 3R B

3.%dd C 3R D

4. HadARD

Options :
1.1
2.2
3.3
4.4

I

Question Number : 29 Question Id : 3421238604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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From the following identify the statements that are logically equivalent.

A. No squares are circles

B. Some squares are not circles

C. Some non-circles are not non-squares
D. No circles are squares

Choose the correct answer from the options given below:

1. B and D only

2

.B and C only
3.A.Band C only

4. A. Cand D only
Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 3421238604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafdfRad 9 9 34wyl &1 ugdH Sifore ol difdbs 2P § g9daa g |

A. DI Hl T, 3T T Bl €|
B. $ 97, 91 el gld &

C. $® R-gd, R TIZEE!
D. ®is Yl gd 971 481 gId S|

- feu U fasett # ¥ F81 IR &1 99 DI
1. $dd B 3R D

HAd B 3R C

3. HAd A, B3R C

4. HdAA, C3ARD

Options :
1.1
2.2
3.3

t-2
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4.4

Question Number : 30 Question Id : 3421238605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are included in the inferential process for inferring fire from
the perception of smoke as per Nyaya Philosophy.

A. That hill has fire(Pratijis)

B. Since it has smoke (Hetu)

C. Wherever there is fire, there is smoke, eg kitchen (Udaharana)
D. That hill which is smokey, must have fire too (Upanaya)

E. Therefore the hill has fire (Nigamana)

Choose the correct answer from the options given below:
l.A.Band C only
2. A.B.D and E only
3.C.Dand E only

4. A and B only
Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 3421238605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Y a2 & TR YU & UAEEIY T I DT 312 T & fold srgan-a uichan o fFHafafad
EREREICARIERICRIE IR

A. TGTS1 IR 31T § (Ul arem)

BHEIGTWHYMNgE®)

c. STgt el *f ST giclt § agT Yaif gldT ¢ Wi foh 1S =R H (3T
D. 95 UgTe! Sl Yif gad g, 3TH 3@ 31T Hi gl =g (3u)

E. 29f¢IU Ugrsl ur 301 g (Fmee)

- feu e faseut # ¥ #T IR &1 99 DI
1.Pdd A, B3R C
2. $hdd A, B,D 3R E
3.$dd C, D 3ARE
4. DHdd A 3R B

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 3421238606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A keylogger, short for Keystroke logger, is type of cyber threat. Keyloggers are a form of

1. Worm

2

. Trojan Horse
3. Virus

4. Spyware

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 3421238606 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

DI-dR, Sl HI-Elh-dlTR &I & $U g, Udh UbR &I Y3aR 49l g | dl- dR Hg d
EREaRaE I

1.9
2. TS g

3. 915
4. WGAR

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 3421238607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronyms and their expansion is incorrectly matched?

1. ROM - Read Only Memory

f-2

. WAN - Wide Area Network
3. OMR - Optical Mark Reader

4. USB - Universal Secure Bus
Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 3421238607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR 2R 38 fGEdR &1 9 H U DI 11 i gHferd Tel g
3R 31 T - IS 3l O

. §&g UUA - 9133 URAT4cadh
I TH 3R - AP dhd A1 e

4.4 U o - g9y d @R 99

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 33 Question Id : 3421238608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In cyber world, Black Hat Hackers are individuals with extra-ordinary computing skills who use
these skills with malicious intent. In this context, identify the correct order for a successful black
hat operation.

A. Scanning

B. Reconnaissance

C. Gaining Access

D. Covering Tracks

E. Maintaining Access

Choose the correct answer from the options given below:

LA By S E D

t-2

.B,AC.E D

3.C.D.BAE

4.D,C,AE, B

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 3421238608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ISR g1 H, &I §¢ oh Y SR TR DI didd Hfdd 8ld g o1l 39 DI bl
fTgogol U Y UAN Hd g1 29 e § 9hd siid g¢ Udla- & gl 3(hd &1 Ugd
” 1:

A Th{HT
B. 2Ig ol
C. HTH I d ST
D. UG [l &l UM
E. 3T d41U 3G

A fou U faeedl § 9 ¥8T 3R &1 994 DI

1L.ABCED

2.B,.A,CED
36D BAE

4.D,C. A E. B

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 3421238609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following software titles are examples of system software?

A. Ubuntu
B. Google Docs
C. MS-Office 365
D. Android
E. Chrome OS
Choose the correct answer from the options given below:
1. A.B,DandE only
2. B and C only
3. A.Dand E only

4. C.,D and E only
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Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 3421238609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 & 9 19 T QrieamR e YoTelt SiiediR & 35180 30

A. 397

RIUG G

UH UY Y 365

TS

HH AT

HId feu U {9 edl § 9 T8t IR &1 994 DI
. ®dd A.B.D 3R E

hadB 3R ¢

3. Hdd A. D IR E

4 HAdd C.D3RE

Options :
1.1
2.2
3.3
4.4

monWw

I~

Question Number : 35 Question Id : 3421238610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Unit of Data Capacity) (Approximate Size)
A | Kilobyte I | 8 billion bits
B. | Gigabyte I1. | 8 million bits
C. | Terabyte III. | 8 thousands bits
D |Megabyte IV | 8 trillion bits

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-IV, D-II
2. A-IV, B-II, C-1, D-IIT
3. AL B-TV, C-1. D-IT

4. A-1, B-III, C-II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 3421238610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

@aag;ﬁqﬁa :alf_tnléf]rla

A |fFdEEe I |8 faferg= focw
B. |7imETge 1. |3 Tafer faca
C. |EEe 11 |8 59K facd

D. |HTEEe 1v. (g feferae faey

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
I. A-IIL B-I C-IV, D-II
2. A-IV, B-IL, C-1, D-III
3. AL B-IV, C-I, D-II

4. A-I, B-1II, C-IL, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 3421238611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Fuel Type) (Example)
Non fuel I. |Biodiesel
Alternative fuel II. |Hydrogen fuel cell

Non traditional fossil fuel | III. | Wind power

ola|w|e

Emerging fuel IV | Compressed Natural Gas (CNG)

Choose the correct answer from the options given below:
1. A-IL, B-1V, C-1, D-III
2. A-IV, B-11, C-I11, D-I
3. A-I, B-III, C-IV, D-II

4. A-I11, B-1, C-1V, D-I1

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 3421238611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

GELR GEipt
EE FIPR) (STER
A |TR-ZeH 1 |&rar- Sed
B. |d®icud 394 11 |ZEeed ud Ia
C. |"R - IREN® Siared 3¢H | 1L |ga 9ifed
D |SWRaiged v | gdifsa wefas i @ wsh)

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-IL, B-IV, C-1, D-III

b2

-A-TV, B-1I, C-IIT, D-1
3. A-lI, B-III, C-1V, D-II

4. A-III, B-1, C-IV, D-1II

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 3421238612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not caused due to noise pollution?

1. Bronchitis

t-2

. Cardiovascular diseases
3. High Blood Pressure

4, Insomnia
Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 3421238612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFrafead & § S @i U & SR 30 el gidT 8
YN (SBT3 )

G- AIgdT SART (@ IfSaatger fesie)

3. 3= XA

4. ST

Options :
1.1
2.2
3.3
4.4

—

(g

Question Number : 38 Question Id : 3421238613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Waste-to-Energy incinerations?

A. It serves dual purpose of disposing municipal solid waste and producing energy
B. It produces fly ash

C. It produces bottom ash

D. It generates a high level toxic air pollutant-dioxin

E. It produces toxic metals such as Lead and Mercury

Choose the correct answer from the options given below:

1. A, C.DandE only
2. A.B.D and E only
3. B and C only

4. A, B, C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 3421238613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFrafeRad 7 ¥ S 9 BT 3URIP -H-Foll HEFHIBI0 & aR H Tel 62
A. %ﬂﬁqﬁﬁwmaﬂﬁ]@%mﬁﬁ?\mﬁ? Jd1e & Tlg WaIS &1 b1 gidl
|
B. 34 Ulls U &1 Sl glal g |
C. 39 delid {8 BT IA1G gidl ¢
D. 39H 3= WY fa¥ell 91 - UgNd - SHANdE- 39 gidl ¢
E. 294 201201 3R URT Sl fquelt Yrqu S gidl g1

A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1. Had A, C.D 3R E
2. ®dd A, B, D3R E

3. Had B AR C

4. Hdd A.B.C.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 3421238614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following cause indirect Green House Warming?

A.CH,
B.NO
C.NO,
D.N,0
E.CO

Choose the correct answer from the options given below:

1. A. B and C only

b2

.Aand D only
3.B.Dand E only

4. B, C and E only
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Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 3421238614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FfIRad 9 S e Ui- 8139 i 39 $id o2

MmO nNnw »

1 fqu Y fdsedl § 9 Fg SR &1 99 HifoT:
1.Hdd A, B, C

HIdA SR D

3. ®dd B, D 3R E

4. HIAB, C 3R E

Options :
1.1
2.2
3.3
4.4

]

Question Number : 40 Question Id : 3421238615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

So far, which of the following countries has not ratified the Convention on Biological Diversity?

1. India

2. China

3. Russia

4. United States of America

Options :
1.1
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2.2
3.3
4.4

Question Number : 40 Question Id : 3421238615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frofafad & 9 fea <23 Sifae fRfgud w Afimg @<52m) 31 29 9@ A Td 31

1. HIRd
2. dF
3.y

4, KT T SHRPT

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 3421238616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The names of great scholars like Raghunath, Raghunandan and Sri Chaitanya were associated
with which of the following ancient university?

1. Sridhanya Katak
2. Vikramshila
3. Sakya

4. Odantapuri

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 3421238616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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XYY, Y- SR A A0 S U fagrl & - (99 (6 Ui fayfaemeg 9 9s €2

1. NYg Heh
faARrEr

[~

3. MY

Options :
1.1
2.2

3.3
4.4

Question Number : 42 Question Id : 3421238617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The professional organisation that opposed the inclusion of its educational discipline under
NCHER was.

1. Education Council of India
2. Dental Council of India
3. Architectural Council of India

4. Bar Council of India

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 3421238617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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dg HqUID TEH, o+ 3(0H Aferd favyg &1 U4 1 0.3, 3R. & fdiid Gifeld & &l
faRiey fopa or:

- HRG e uikug
HRA &d uRug
- YR ar&] uRkeg
4. YRAJG §R URug

Options :
1.1
2.2
3.3
4.4

—

I

L

Question Number : 43 Question Id : 3421238618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The recommendations of the National Council of Teachers Education (1976) were:

A. Limiting the number of teacher education colleges

B. Universities should recognise short term courses for in-service education for teachers
C. Avoidance of correspondence courses for in-service teachers

D. Use of technological aids like television, films and others

E. Formulation of a network of extension services for in-service teachers

Choose the correct answer from the options given below:
1. A B, Conly
2.B,C,Donly
3.C.D.E only

4.B,D.E only

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 3421238618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 50/173



8/29/24, 9:54 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

BT R1e0 e TRES (1976) DI ST It

A. TR fRren-wgTideeal &1 Uvedl ol ifHd BT

B. fayfa=reral gRT Uard el &l f21e & folu srcudmiidaes urddgdl &l Al < SIHl
difgu]

C. YaRd 1 & folt TAER ursd<dl ° URgR

D. Taiiido, flhed! 3R =1 UY Ui 1 Ygidd IUHUll &l U

E. YaRd [2&&] & foru faadR garel & <edd &1 (a0 S0

- feu e faseut # ¥ #T IR &1 99 DI
1.®Hdd A, B, C
2. $HddB.C.D
3. $HddC. D, E
4. HddB, D, E

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 3421238619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy, 2020, recommended certain verticals Under Higher Education
Commission of India. They are

A. NHERC (National Higher Education Regulatory Council)
B. NAC (National Accreditation Council

C. HEGC (Higher Education Grants Council)

D. GEC (General Education Council)

E. OLC (Open Learning Council)

Choose the correct answer from the options given below:

1. A.D, E only
2. A.B.C,Donly
3.B.C.D, E only

4. A.B.C.E only
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Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 3421238619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RIET 218 A1, 2020 = YR 37 &M SR & Sl & STHI B RN DI 14 T:

A. T.0E 5. 3R Ipg 3= Riar fafamd uRve)
B. TH.UY. (I¥19 Uarg- URug)

C. TA.3Si.4L. (3= TR1e 3MeH uRkyg)

D. Sl 3. (A & aRkee)

E. 3.0l (Had AT uRug)

1d fGu U f[ddh el § ¥ F8T 3R &1 98- SIS
1.hdd A, D, E

2. Hdd A, B.C,D

3. ®HddB.C.D.E

4. Hdd A, B.C.E

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 3421238620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII

Proponent Initiative

Lord Dalhousie| 1. | Support to oriental education

Annie Besant II. | Technical education

Lord Curzan ITII. | Moral education

ola|w|e

Lord Auckland | IV |Reform and control of higher education

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1I, B-III, C-1V, D-1
3. AL B-TV, C-1. D-IT

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 3421238620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

=] =

oS Sagrel | 1 |wres fan &1 g e

o fad=e il SGEiGARE]

dle o L. |Afae® faren

dis dieds |1V | 3= fan & gur 3R FEm

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

olo|w|x

2. A-1l, B-III, C-1V, D-1
3. A-III, B-IV, C-1, D-II

4. A-IV, B-1, C-II, D-III

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 342123341
Question Shuffling Allowed : No

Question Id : 3421238621 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Read the passage carefully and answer the questions that follow:

Anthropologists have questioned universal explanations of war. Some hold out the hope that war.
like slavery, can be erased by wise collective decision-making. But warfare is too diverse and
historically widespread to be cured by simple remedies. Economic motives have always existed.
A fight for salt or metals, gold and treasure, enslaved labour or access to trade routes, or oil and
other resources has marked many of the world’s violent conflicts. But ideological and religious
confrontations have also driven war. Hubristic warfare from Alexander to Napolean to Hitler was
meant to establish dominion. The rise of Chinese power has provoked questions on whether
potential conflict with US will descend into war. The search for security can be found in every
warlike episode. as frontiers feel fragile. Is war on the decline, with new forms of settling
conflict, cyber-attacks, and so on? The wars of this very century belie that hope. An ecological
crisis, resource stresses and clashes of beliefs are only too visible in the emerging international
order. And so, the future of war might not look very different from its past.

Sub questions

Question Number : 46 Question Id : 3421238622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What do some anthropologists think and hope about war?

1. War will continue forever

]

. War will keep on evolvig taking a new form
3. War can be eradicated by wise collective decision making

4. War will happen more frequently

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 3421238623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the text. why it is difficult to eliminate war from the world ?

1. Because, it is too diverse and historically widespread

]

. Because it is not difficult to understand people and society
3. Because of the modern technology

4. Because of the rich people
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Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 3421238624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What all economic motives have historically driven war?

1. Only gold and treasure

-]

2. Only salt and metals
3. Only trade routes

4. Various resources including salt, metals, gold, treasure enslaved labour, trade routs and oil

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 3421238625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following terms has been used to describe wars meant to establish dominion by
leaders like Alexander Napoleon and Hitler?

1. Resource Wars
2. Defensive Wars
3. Hubristic Warfare

4. Revolutionary Wars

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 3421238626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Common element that is found in every warlike episode mentioned in the text is:

1. Technological advancement

t2

. Economic upliftment
3. Search for security

4. Ecological balance

Options :
1.1
2.2
3.3
4.4

Question Id : 3421238621 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

T[T DI WIGUTHIYAD g DX A1 [GU Ui & 3TN Siferg]

AHafaIal 9 g 1 GrdUIifs IR R Y @l ¢ $F dll &l Yad 3= ¢ fh
fadmyul Ufed (MU gRI g T YHTGHT AW B ol Ybdl ¢ oIl GRYT & AT J g3
o7 I¥d g B! fRufd gd-1 fafqudnTa ¢k Uiagiie ¥ 9 ga-l s g fd 9yRo 3umal
U oo YHd A8 g |

nfie Ie=T gHEN f3emM I8 €1 79 T uIgait, T 3R WeH & fau ders o 4fis! &
QT &I11 41 dc 3R 19T AFT 41 daf a1 3 HH1e! dob Ugd &1 fay & dgd 9
fe9® gzl & SRUI a4 ¢ Tq ddike 3R Ui Tbraal 4 g5 &I AHURG fHar gl
e I Aulfergd ddb SR AUlfergd d fgeek dd gdhal WY dg UYd RIIfUd 3 & feu 4|
i< @ Afdd § gi< 814 U I U 34 g3 ¢ [ 1 Ggdd I & 41y fadie < d uRafdd
1 ST | Uidh JSuHTH U0l § GRaf & ford oI ¢t off el g | i diatd &7 w@d
Pl HUGIR TEYY IR I ¢ | 1 ZAS! & GHIH & U 30, WIgaR - g 1S & PRI I
BIEH ¢ 24 el H IS U Gl 3 39 3= DI AT Fifdd a7 uiRiyfasig dae,
el IR GeTd 3R T a4l | Thvid g1 SHRCT SFRIP vyl H IHRd! o 3l
g1 3R 3Ol g &1 Hidw, 39 2fdid ¥ 4fid i T8t TR M1dT|

Sub questions

Question Number : 46 Question Id : 3421238622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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$ AF4 a9, 3 & IR & 71 Tiad § 3R M= &Hd 8
1. 9g SHRI SR X |
2. 4G 91 Y dhR Udbe gid g |
3. faaeyul arfg® ulg da g o1 S+ fhar s gadi g1
4. gz 3Hi¥d IRER g |

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 3421238623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UT6 & TR 3% ¥ g5 BT a1 I B3 g2

1. 1T g8 3Andd fafae 3R Uidgiys U Y JAud g
1T TN SR YIS ] YA 9gd Do Al ¢
- HIYFS TS & BRI

4. ¢[[aH AR & BRI

Options :
1.1
2.2
3.3
4.4

2

L

Question Number : 48 Question Id : 3421238624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fob 3 Ie=al 4 Udeifd U U g & ifiuRd fdbar g2

1. Sad AT 3R Tl

2. Hhdd THd 3R Ug
3. had AUIR® ANt
4. IO, HTd, G, WoAHET, A 406, e O71f 96 Ugd 9Ul dd Jigd fafts dare-

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 3421238625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeiRgd o 9 9 &1 94T g8 afvid s & o0 fvar 11 § o g U e RdheR,
iferad 3R fgeeR S el gRT UYd AU AT 412

| 9 g

2

TP TS

BPSIMRITS
4. PifdPRI TS

Options :
1.1
2.2
3.3
4.4

L¥S]

Question Number : 50 Question Id : 3421238626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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q1& o IfctRgd Udd -G U9 H gra1 S-drdl i ded g
L. Ui g 34fd
31 I

f-2

3. GR&TT DI qr
4. qIRIRYTAD T Yo
Options :
1.1
2.2
3.3
4.4
Geography
Section Id : 342123116
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123342
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3421238627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

presented evidence in support of continental drift in his book *Our Wandering

Continents.’
1. Wegener
2. Harry Hess
3. Alexander du Toit

4. F. Vine

Options :
1.1
2.2
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3.3
4.4

Question Number : 51 Question Id : 3421238627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= 3O Uidd -3{dX dis NIl Eﬁ?ﬂq@ (Our Wandering Continents) H ﬂ%@?ﬁﬂﬂ
dTg & U& H JHIUT Udd fh U]

1. AR

2. 23 8
3. fddeis g alse

4. U, 15

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 3421238628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the graphic illustration of the geographical cycle of Davis the gap between two curves (upper
and lower) represents

1. absolute height of water-divides
2. relative relief
3. altitudes of valley bottoms

4. base level of erosion

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 3421238628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST & Himifrd g & AMithd A0 1 &1 9ol (SURT d M) &1 3R
PHEGERGIR

1. 5T faHSid! &1 FRUg Sars
2. YIU& I=dd
3. °1E & ddl Bl Sdie

4. HULGA DI HTYIR ded
Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 3421238629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Absteigende entwickelung phase of landscape development model of Penck

1. process of valley deepening dominates over valley widening
2.1 fuplifi i | f erosi

2. rate of upliftment is more than rate of erosion

3. absolute height increases but relative relief decreases

4. absolute height and relative relief decline.

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 3421238629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Uh & Yo [dh M Hisd & SaETes Ueidha aror o

f-2

L8]

4

HTIA & e &1 Uidar 91e] & dISIdH-0 J Uad gidl ¢
I B & HREA B a2 J S91al gl ¢

IR0 Gdrs dedl 8 U T I=Tdd 9edi g |

RUg 3ArE 3R e I=ad gedi g

Options :

1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 3421238630 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

In the following, which one represents the group of erosional landforms.

1

t-2

. Zeugen, Truncated Spurs, Lapies
. Interlocking Spurs, Kame, Stalagmites

. Hanging valley, Tombolo, Sea cave

4. Pot holes, Dreikanter, Drumlin

Options :

1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 3421238630 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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9 T 9 D1 T 9YE ReATHS Y3MHic o FAeitd ddl g
1. SgoiH, Ffed Udd e, Tuis
3. el 91dl, THdld!, gl THT

[

4. e TIfd T, STadhe, SHfAH

-y

f-2

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 3421238631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the four distinet elements in a standard hill-slope from ridge to valley.

A. Free-face slope
B. Concave slope
C. Convex slope

D. Rectilinear slope

Choose the correct answer from the options given below:

1. C.A,B. D

t-2

A0 B

3B, DAC

4.B.D.C.A
Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 3421238631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U HH® Uddil gld & IR afHd dadl & dedh 4 91l & &H H A3 Rd S|

A. Had U8 ¢Id
B. 3{ddaig gl

C. 3y grad
D. YIeRWlyg gral

A U U f[ddedl § O Ul 3R &1 994 DIIU:

1.C,A B.D

[

C.A,D,B
3. B, DIAC

4.B,D,C, A

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 3421238632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements with reference to weathering:

A. Chemical weathering is common in desert areas due to large diurnal variations of
temperature.

B. Mechanical weathering occurs in cold regions by means of frost action.

C. One form of mechanical weathering by plants is called chelating.

D. Limestone is very resistant to wind action but it 1s highly susceptible to rain water.

Choose the correct answer from the options given below:

1. B and D only
2. A.Band D only
3.B. C and D only

4. A. B and C only

Options :
1.1
2.2

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 65/173



8/29/24, 9:54 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
3.3
4.4

Question Number : 56 Question Id : 3421238632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3uer & e | el HuAl 1 UgdH B
A. ¥F &P IR & SRUNINAND 0y FSl &3 § 9HE= gl
B. TifAd 3{0&d 33 &7 1 gUR fhal & HRUISIAI 5|
C. Ulefl §RT U UPHR P ifAd 39&d T2 Hoardl o
D. IR UaH fehar & ferd agd UlcRiel g, fob= aui oIt & o/ Uy g
A f6u U Al § O gl 3R &1 994 HIIU:
|. Hdd B 3R D

2. Hdd A, B3IRD

3. Hdd B, C 3R D
4. Hadd A, B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 3421238633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT

LISTI LISTII
(Landform) (Earth Movement)

Wasatch Range [. |Epeirogenic

Colorado Plateau | II. | Orogenic

Narmada Valley | III. | Vulcanism

Laki Plain IV |Faulting

ola|w|e

Choose the correct answer from the options given below:
1. A-I B-1IV, C-III, D-II
2. A-IIL B-1, C-IV, D-II
3. A-L B-II, C-IV, D-III

4. A-1I, B-1, C-IV, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 3421238633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

g1 T 1T
(Y- 3HTPid) & R ))
e Yot L |gem =
Fdel IeR | 1 |uda Fefoe

BRI 1L | ATt 3ad
! HaH V. | Y2

A fSu U fasedl § O 9gt 3 &1 994 DIfoIU:

1. A-1, B-1IV, C-III, D-1I

ola|w|e

2. A-III, B-1, C-1V, D-II
3. A-L, B-II, C-IV, D-III

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 3421238634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements with reference to landforms and plate-tectonics.

A. The violent volcanoes of South America are associated with ocean-continent convergence.

B. The Himalavas originated due to continent-continent convergence.

C. Hot spots are always located at plate boundaries.

D. Earth's persistent magnetic tield is caused by the movement of molten metal in the inner
core.

Choose the most appropriate answer from the options given below:
1. A and C only
2. B and D only
3. B and C only

4. A and B only

Options :
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1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 3421238634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y31 Iad! qUl wie faqdie! & dau 1 gl dudi &1 |

A. GI&0fl MRS & Uad Sarangdl TeTR-TgTgd1g SR 4 eied |
B. feAIer &1 IR HeTglU-HeTgd SR & HRUTgs o

C. glc WIe gH Wic Jiarsi R Rd gid g1

D. edl &1 Ydd D1 &7 <1k 13 | fUgcl 41d & I & SRUIGIAI 5|

- fau U faseut # I Het 3R &1 99 DT
1. Hdd A 3R C
2. $HIdB 3R D
3. HadAB 3R C
4. Had A 3R B

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 3421238635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The next Hawaiian island that will come into being - already named Loihi - is building on the
ocean floor at the end of the chain.

1. north western
2. western
3. south eastern

4. north eastern

Options :
1.1
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2.2
3.3
4.4

Question Number : 59 Question Id : 3421238635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

31KTed H 37 9Tcl SFTdl gals g1d, [T TSR0 gl 81 91 8, 49dl & BRW
MR dd R MHd gIe1 8|

1. 3R ufgHr
2. UfgHt
3. Gigor gdf

4. W gdf

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 3421238636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Thornthwaite did NOT use in the criteria of his first scheme of classification of
climates.

l. summer concentration of thermal efficiency
2. percipitation effectiveness
3. seasonal distribution of precipitation.

4. thermal efficiency

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 3421238636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST aMERU BT YIA AT H YAded  3IYR b1 SGANT gl b
U G&fd T FHDTell Ubgul

2. YT qUTfdT

3. YU & HIYH faaior

4. T4 Carar

Options :
1.1
2.2
3.3
4.4

—

Question Number : 61 Question Id : 3421238637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

layer of ionosphere is also known as the Kennelly-Heaviside layer.

1.D

2

.G
3.E

4.F

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 3421238637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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qu:%fl%ﬁ GAl URd W—%Eﬂ% (Kennelly-Heaviside) UXd & &0 H 4 S
EIGI

58

b2

G
3.E

4. F
Options :
1.1
2.2

3.3
4.4

Question Number : 62 Question Id : 3421238638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The steeper slopes and faster movements provide the explanation for more intense weather
phenomena associated with

. warm front

2

. cold front
3. doldrums

4. shrieking sixties

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 3421238638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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%ﬁéﬁsﬁ?aﬁﬁw U Ud 3¢ o= AT gereil &1 AR UaH
|

1. 3T d[dii
2. Riid I
3. SldsH

4. JIgGd1 91a1

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 3421238639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The frequency of tornadoes in USA is highest in months from

1. October to December

(]

. November to January

P8

. June to September

4. April to June

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 3421238639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g T TH ERASI DI ffhdd gf TRl H gidl |
1. 3SR Y feqmar

AqER Y SHa

O T fYdreR

4. 3UA Y G

Options :
1.1
2.2
3.3
4.4

f-2

L8]

Question Number : 64 Question Id : 3421238640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The present trend of global warming is a result of

1. orbital and solar variability
2. earth movements
3. changes in composition of atmosphere

4. sunspot cycles

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 3421238640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 74173



8/29/24, 9:54 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
Ay qI9 BT 949 Ugfd DI IR G|
1. ORI 3R IR daard
. H-pddd Al
 AgAvSd & oA o uRddHl
4. TR s & depl
Options :
1.1
2.2

3.3
4.4

f-2

L8]

Question Number : 65 Question Id : 3421238641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following gases in descending order of their share in the composition of the
atmosphere.

A. Carbon dioxide
B. Hydrogen

C. Argon

D. Helium

Choose the correct answer from the options given below:
1.C,A,D,B
2.8 C,D.B
3.C,A,B,D

4 A, C,B.D

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 3421238641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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s & Gied o (49 T4l & gl & s/avigl o0 o Fdi&yd Sifeu]

A. BT SR 3EES
B. SlaaloH

C. 3N
IR
1< fSu U fadedl § U Ul 3R &1 994 Bilg:

1. C.A. D, B

2 A CDB
3.C,A,B,D

4. A,C.B,D

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 3421238642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify correct statements with reference to the heat budget of the Earth.

A. In the albedo of the earth-atmosphere system dominant role is played by clouds.

B. Out of the incoming solar radiation more units are absorbed by atmosphere as compared to
the earth surface.

C. In the latitudinal belt of 30° N to Arctic circle the amount of incoming solar radiation is
more than that of the outgoing terrestrial radiation.

D. In latitudinal heat transfer atmospheric circulation dominates over oceanic circulations.

Choose the correct answer from the options given below:

1. A and B only
2. A.Cand D only
3. A.Band C only

4. A and D only

Options :
1.1
2.2
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3.3
4.4

Question Number : 66 Question Id : 3421238642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gl & I §oic b YeH O el Sl b UgdH B |

A. G2 -aIgAYSH oF &1 Ufcas! H 91ed Us UHE HifeT Ay B

B. 39 IR fafdur 1 ¥ ged ac S go-1 d agHusd Sfed TR o SaRiiitd sd gl

c%:}ﬁgm&ﬂ?%ﬁwﬁﬂmaﬁﬁwwwwww
2] |

D. 3T I VMR ¥ agH Sy UREER0 JgMIRIY UREER0 Y Udd gidl g |

A fGu U A edl # 4 I8t IR 1 999 BIT;
|. Hdd A AR B

2. HIA A, C 3R D
3. HId A, B3R C
4. H9d A 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 3421238643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 771173



8/29/24, 9:54 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Identify the correct statements with reference to insolation.

A. In summer season length of the day will be longer at Jammu as compared to Chennai.

B. In a year, the sun's rays are vertical twice at Varanasi.

C. The southern slopes of the Himalavas receive more insolation as compared to the northern
slopes.

D. The share of visible wavelength is more than the share of ultraviolet wavelengths in total
insolation.

Choose the correct answer from the options given below:
l.A.Band C only
2. A.Cand D only
3. A.Band D only

4.B, C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 3421238643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e  werd 4 U o B TgEH Y

A. T 1 SR H Il I g1 § fa i 3iafe it owai givi|

B. U UId § aRIV IR 4 &1 {60l &1 4R dad gidl g |

c. fearea & aiéfl gra SRl eTal &1 g1 H 3ifeied Yaiad Urd $d ¢ |

D. 1 AIaY | =37 aTe e & fgel WeTH eed & g ¥ i glar gl

e fau T f9ehetl 7 9 FEt SR b1 99 SIS
1.hdd A, B3R C
2. $HId A, C 3R D
3.%dd A, B3R D
4.%ddB, C ARD

Options :
1.1
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3.3
4.4

Question Number : 68 Question Id : 3421238644 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI LISTII
(Climate) (Letter Symbol by Koppen)
A | Tropical Savanna I |Cs
B. |Mediterranean Climate II. | As
C. |Semi-and III. | Aw
D. |Prevails in Coastal Tamil Nadu| IV. |BS

Choose the correct answer from the options given below:

1. A-IL B-1, C-IV, D-III

I

. A-III, B-1, C-1V, D-1I
3. A-III, B-IV, C-1, D-1I

4. A-IL, B-1IV, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 3421238644 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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el 1 1Y Yl 11 DT el Sifse

A | IW BicEHT TaH] L [Cs
B. | YAOUTRY Saag I |As
C. |¥e-Iwm I | Aw
D. |d¢tg diFemrg § faemM | IV. [ BS

A fSu U fasedl § O 9gt 3 &1 994 DIfoIU:

1. A-IL, B-1, C-1IV, D-III

b2

. A-III, B-1, C-1V, D-II
3. A-Il, B-1V, C-1, D-1I

4. A-II, B-1V, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 3421238645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As the tsunami crest approaches shore

1. the period of the wave reduces, its velocity increases and its height increases gradually.

t-2

. 1ts velocity drops but its period and height remain constant.

L8]

. the period of the wave remains constant, its velocity drops and the wave height greatly
Increases.

4. its height increases greatly as its period and velocity increases.

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 3421238645 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

SO A S de pi iR ndig . |

T D1 Al gedl 8, YD1 91 dodl © 3R SUD! Hdls dR-4R g8 g

. SYDT A HH gIdl § fh=g a9 R s RR I |

R BT 2afY FeR IGdT €, 3UHT I HH gIdT & IR ai HI1S 9gd AP 95l ¢l
4. T DT Al 3R 97 dg & 1Y SHDI HaTg 9gd 3ifUd 96l g

Options :
1.1
2.2
3.3
4.4

[—

-2

Ld

Question Number : 70 Question Id : 3421238646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The fastest and deepest geostrophic currents are found at the boundaries of ocean
basins.

1. western

I

. gastern

L

. equatorial

4. northern

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 3421238646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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m@mw@wimymmaﬁﬁﬁ e e
Sl g |

1. gfg

2. qdf
3. YAERTHY
4. Jd

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 3421238647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Ekman spiral effect explains

1. the deflection in the direction of flow of surface current.

(]

. the relationship of amphidromic points with co-tidal lines.

P8

. the progressive wave theory of tides.

4. the presence of thermocline and halocline zones.

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 3421238647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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UHHAWERd (@dehudd . I ARAT I ol

f-2

4

 [ET YRTeA & WaTe D1 = H faeior

. g-SaRI XAl & U1 UEh i fagaf & ey
SR T YITH a8 fagid

 YTfRIg 3R galldaiigd AvsSdl &l Jufkyfd

Options :

1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 3421238648 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The primary cause for vertical movements of water in oceans is

1

t-2

. atmospheric pressure differences
. Coriolis force

. ocean bottom topography

4. density differences

Options :

1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 3421238648 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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TENPRI A od & FER IdT DI UYHG HIRT . B
 AYATSHN G1d 3[R

DI ¥

IR {dd S=1dd

—

f-2

L8]

4. 99 3R

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 3421238649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

is a cold ocean current.

l. Florida current

t-2

. Labrador current
3. Kuroshio current

4. East Australian current
Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 3421238649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 84/173



8/29/24, 9:54 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

U 3US HEMFRIA YRI B |
1. RIS 4RI

TISTER YR

 RRIRAT YR
4. qdl & e 4Ry

Options :
1.1
2.2
3.3
4.4

f-2

L8]

Question Number : 74 Question Id : 3421238650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following trenches of the Pacific Ocean in North to South direction.

A. Tonga
B. Kuril
C. Kermadec
D. Bonin

Choose the correct answer from the options given below:
1.B.D,C.A
2. B, DA, C
3.6,B:4,D

4.C,B,D, A
Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 3421238650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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URid He IR &) FHfeRad \@isdl &l 3) 9 Gl faun § safd &1
A. T
B. ®Xd
C. HIHSH
D. Sif
1< fSu U fadedl § U Ul 3R &1 994 Bilg:

1.B.D,C,A

2 B DA, C
0 BAD

4.C,B,D, A

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 3421238651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements with reference to temperature and salinity of the oceans.

A. The oceans in the Northern Hemisphere are slightly cooler than those in the Southern
Hemisphere.

B. The annual range of temperature in the Atlantic Ocean 1s larger than in the Pacific Ocean.

C. The areas of highest salinity in the open oceans are associated with sub-tropical high
pressure area.
D. The high salinity of Black Sea is due to influx of large volumes of water by rivers.

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and D only
3. B and C only

4. C and D only

Options :
1.1
2.2
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3.3
4.4

Question Number : 75 Question Id : 3421238651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HERITRI & dI9HM 3R J9uidl & deH H I8! $uA! &1 Ugad B

A. I Tidls H TETNR Gleqoft s &l Suem IS 2da g |

B. 3cdifed HEMR H dI9HME &l alftid IR ULlid HeFR U (Y& gl

C. ol HENIRI H S=IdH daUldl & &= SUIVT 3= aId &3 9 Ui o |

D. BT AFR 61 I AaUIdT Afeal RT3 T3 fa=1rel SIer1RI & 3fdudg & R gl

i< fau 1T f9petl 7 9 FEt SR 61 99 ST
1. hdel A 3R B
2. Hdd B AR D
3. BIAB 3R C

4. Had C AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 3421238652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify correct statements about relief features of the oceans.

A. Telegraph plateau and Albatross plateau are located in North Atlantic and South Atlantic.
respectively.

B. The Walvis Ridge separates Angola basin from Agulhas basin.

C. Carlsberg Ridge is located in Indian Ocean.

D. Amsterdam - St. Paul plateau is located in the South Pacific Ocean.

Choose the correct answer from the options given below:

1. A. Band C only
2.B. C and D only
3. B and C only

4. A and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 3421238652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HENIRI @ 3=1ad A& & a1 H gl HUA! Bf Uga™ B |

A. CTHIT® U8R 3R eIy U8R HHTL: IR 3fdiicd 3R Gl sedifes # fRd g
B. dfcd¥ Hed, ST SR B SAICTET SR © el el g

C. BT dhed g-a HeTR H [RId 51

D. URICSH - 4¢ Uld UaR, Géuft y=iid #HeR § RRd g |

- fau U faseut # 3§ H6l SR &1 90 SIS
1. $hdd A, B3R C
2. $dd B, C 3R D
3. HddB 3R C
4. HAdARD

Options :
1.1
2.2
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Question Number : 77 Question Id : 3421238653 Question Type : MCQ Option Shuffling : No
: 0

Correct Marks : 2 Wrong Marks

Match the List-I with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI LISTII
{(Deep/Trench) {Ocean)
A |Puerto Rico Trench| I | Arctic
B. |Java-5Sunda Trench | II. | Pacific
C. |Challenger deep III. | Indian
D. |Molloy deep IV. | Atlantic

Choose the correct answer from the options given below:

1. A-IIT, B-IV, C-I, D-II
2. A-1, B-IN, C-I1, D-IV
3. A-III, B-IV, C-11, D-1

4. A-IV, B-III C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 3421238653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :
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AT 1S 1Y &I 11 DT e Hifoy
1 1
W ReiEE | L |bidd
Sal-gueTErs | o | wErid
ERELEEE] m. |2
EIRIRCE] V. | sfeqifed

A fSu U fasedl § O 9gt 3 &1 994 DIfoIU:

1. A-III, B-IV. C-1, D-II

ola|w|e

2. A1 B-III, C-I1, D-IV
3. A-1II, B-1V, C-11, D-1

4. A-IV, B-1II C-1I, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 3421238654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

is the broad transition between two different ecosystems of mainly plant
communities.

l. Ecocline
2. Mutation
3. Homeostatic mechanism

4. Cultivated ecosystem)

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 3421238654 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

03 U 4 Uley 94qgl & < fid gikiufded o7 & dld 98q URTa- g
BCACTIRS
3dRad

3. JARRITdS UhH
4. Hivd TiRfRfdH 9

Options :
1.1
2.2
3.3
4.4

-2

Question Number : 79 Question Id : 3421238655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In 1995, the Basel Convention was amended to trom industrialised to developing
countries.

1. allow the export of hazardous waste

I

. ban the export of any hazardous waste
3. allow export of hazardous waste with prior consent

4. restrict the international transport of hazardous waste.

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 3421238655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1995 H, SUe qUEd Dl gifipd Y fapmiidci ® & foTu =i foar )
 SIREHSRT Uiy &t Faid &t srgafd o

fodt Hi sifaHeRT 3w & fFaid of ufddfed o

qd Teafa O sifaneRt 2mfars & Fafd &t saufa 3

4. SIRGASRT SUfRIY & -RIPY URagT Bl A

Options :
1.1
2.2
3.3
4.4

[

1]

L8]

Question Number : 80 Question Id : 3421238656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the following phase, the plant seeds are established in the newly created bare area
through germination and plant growth in a given habitat?

. Phase of reaction
2. Phase of stabilization
3. Phase of ecesis

4. Phase of nudation

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 3421238656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafafad o O fog uarn ¥, U6 Yed 919--IH U 1y §i 307 3R ey f[ahr™ &
A1y Y AafAfd sEgd &7 4 wiftd gid g2

L. YT Bl Urawy1
2. RYTHIH0] B UTdRIT

3. 3G B YTaed]

4. 3TBIG DI UTdRIT
Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 3421238657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is associated with an understanding of our place in the world based on
human superiority and dominance over nature, the unrestricted use of natural resources, and
increased economic growth to manage an expanding industrial base?

1. Anthropocentric
2. Bio-centric
3. Eco-centric

4. Geo-centric
Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 3421238657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafRad @ ¥ SH 91 Meifd MR & %R & YdeH & (U Uaid & HUR 398 I 98T
3R UYd, Upidd HILHl & sRibeld 3TN 3R e [dh ¥ gis & MYR R fay &
SHR W[ & 90 Y Yidf4d g2

1. AFa-dhisd
2 Sd-diad
3. QIRTYTad - hi<d
4. Y blsd
Options :
1.1
2.2

3.3
4.4

Question Number : 82 Question Id : 3421238658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which type of ecosystem has the highest mean net primary productivity (dry gram-"mz.-"'year].
1. Lake and stream
2. Boreal Forest
3. Tropical savanna

4. Agricultural land

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 3421238658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gmﬂﬁﬁmﬁ@lﬁ% dd MDA 3 T IUHS IATehdl (b AH/AH2/aY) [gdl

1. 3 3R &R
2. JiRgd a4
3. YU TaHT

4. P19 A

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 3421238659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following surfaces of the Earth on the basis of Albedo (% reflected) in descending
order.

A. Water (High sun)
B. Crops

C. Fresh snow

D. Desert

Choose the correct answer from the options given below:
1.D.B,A C
2.8 B C.D
3D B A

4.B,C,A. D

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 3421238659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gedl & (Hgfcad dgl &l Ueast (R &1 %) & YR W 3d3ig! v § Tdieyd $Hi|

A. 9 (3= )
B.

c. drsil 9t

D. SR

A f6u U f[ddedl # O gl 3R &1 994 HIIU:

|.D,B,A,C

3 ABCD
3.C,D,B, A

4.B,C,A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 3421238660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the wrong statements with reference to United Nations sustainable aims of Goal 6.

A. Achieving the goal of universal access to safe and affordable drinking water by 2030.

B. To ensure access to clean energy to all by 2030.

C. Protecting and restoring water-related ecosystems.

D. Application of technological measures to reduce energy consumption in industries and
building by 14 percent.

Choose the correct answer from the options given below:
1. B and C only
2. Aand B only
3. Aand C only

4. B and D only

Options :
1.1
2.2
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3.3

4.4

Question Number : 84 Question Id : 3421238660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y Y 3579 6 P YRUIY el & T-aH H Terd HYl $I UgaH Bl |

A. 2030 d TRI&d ﬁ?mﬁmﬁmﬁﬁwtﬁlﬁﬁ U5 d o 3624 bl UK HAT|

B. 2030 I Y4 D1 W=s Holl Ugd GHTET B

C. STd-Tr=iT griRfRfa® ol &1 YRIET BT 3R GATag |

D. I 3R SARC! H ol &1 WUd B! 14 U= HH B & [ dhb-1dh] ATEH] B
UGN DT

A fGu U [dd el # 4 gl 3R &1 994 HIIT:
|. HadB AR C

2. %Hdd A 3R B
3. Had A AR C
4. H9d B 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 3421238661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the correct statements about Deep ecology.

A. All life has intrinsic value.
B. Humans have right to reduce richness and diversity of life-forms on earth.

C. The value of non-human life-forms is independent of the usefulness they may have for
narrow human purposes.

D. The flourishing of non-human life requires increase in the human population.
Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3. Aand C only

4. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 3421238661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e+ UIRTRITO®!T & 9R H 9l U=l &l ugan-u|

A. Gl Siifdd &1 3iaRk® e g

B. tRdl R Sild Ul $1 i< 3R fAfqudl &1 $8 6 of HUSR 9] $l g1
C. TIR-AMd Sia4-Fui &1 G Yeb 0] G 3514l & fefu Sudiiiiar 9 wdA 2|
D. TR-Ad Silad & Sy o (el Ad SHUT] B deld)! i HATagdhdl gidi g |

- fau U fasett # I Het SR &1 99 DI
1. %dd A 3R B
2. HaAB 3R C
3. PAAA AR C
4.Had C 3R D

Options :
1.1
2.2
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3.3
4.4

Question Number : 86 Question Id : 3421238662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
A | Brundtland [. |Reducing the emission of six green houses gases
B. | Kyoto protocol IT. |Five pillars- People, Prosperity, Planet, Peace, Partnership
C. |Paris Agreement ITI1. | Our Common Future
D. | Sustainable development Goals | IV. | To limat global warming to 1.3% C by this century.

Choose the correct answer from the options given below:
1. A-L, B-III, C-II, D-IV
2. A-IIL, B-I, C-IV, D-II
3. A-II, B-III, C-I, D-IV

4. A-IV, B-11, C-1I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 3421238662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

T 1 T I
s L | @ JHe3Y T4 & IHeid & BH Bl
eI Wema | 1 |ufe Y- @ e, 7, 2L ferd
URY OElial | UL | §HR1 O0F YW (363 $EE 1)
Udd fder &g | IV | 39 aTst! ao YHSa aigd &1 1.5°C dd Uifid &1

- f6u U f[ddedl # U I8t 3R 1 999 HIU;

1. A B-IM, C-II, D-IV

ola|w|r

]

. A-IIL, B, C-IV, D-TI
3. A-IL B-IIL C-I, D-IV

4. A-IV, B-11, C-III, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 3421238663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

stage can be defined as a small market town where the traditional values are still
upheld while the modern amenities have started emerging.

l. Polis

2

. Eopolis
3. Biotechnic

4. Tyrannopolis

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 3421238663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 100/173



8/29/24, 9:54 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

T DI, Th BIC dNR B ForiH IRERATT Jedl &1 314t i A=l § Safd
31efS Giayrsi &1 Iy ol R gl TR g, & =0 § gRYTNT {1 S 9l g

L. Tici

2. Sl
3. SICHTH
4. TGN

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 3421238664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

refers to that site which has previously been used and has become derelict. It has to be
made safe before it can be used for development.

. Greenfield site
2. Yellowfield site
3. Brownfield site

4. Redfield site

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 3421238664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Y Y 39 R Y ¢ 518 gd o vanT {61 7 § SR 98 IR 99 7411 39
QI &l [dH™ & el YA & 9 Ud YRI&d §4[1 gR |

L. UPIeE T
2. YIS R
3. 3D I
4. 3SWIcS -

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 3421238665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The units locally called panna, para, palli. nagla and dhani. are associated with which of the
following rural settlement?

|. Clustered settlement
2. Agglomerated settlement
3. Hamleted settlement

4. Fragmented settlement.

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 3421238665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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R SH134T U, URT, Uledl, AT 3R erofl 9 1 U fog drdior o dl O 3eg 2|
NGRS

 Hfgd Sl

 Ragdd St

4. Gfsd S&di

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 90 Question Id : 3421238666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

model is based on the basic assumption of urban ecology.

1. Gravity

t-2

. Concentric zone

L8]

. Multiple-nuclei

4. The City and the Grassroots

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 3421238666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hisd el uIRfRfaed! ®f AT RN TR S1e1Rd g

f-2

L8]

4

RICE

bl HUST

. §g-TIH®
TR U1 AU

Options :

1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 3421238667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term Edge city was coined by

1

t-2

. Garrison
. Garreau

. Feagani and Parker

4. Lang

Options :

1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 3421238667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U] AW FRITEITAN
RRINIRSE

2. ﬁ_\ﬂ}l{(}arreau}
3. THITHT SR TR

4. W7

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 3421238668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following census years in descending order on the basis of decadal growth rates of
population of India.

2001 census
1991 census
1951 census
1921 census

Onwp

Choose the correct answer from the options given below:

1.B,C,A,D

B

B I A
3B, C, LA

4.B,A,C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 3421238668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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?ﬁaﬁmwﬁﬁwﬁa@ﬁwﬁﬂq@ﬁﬁmﬁwﬁm@m
|

2001 ST
1991 SI-I0T]
1951 W I0T]
1921 SI-I0TT

A fau U fadedl # U Ul 3R &I 994 DIl

1.B,C.A.D

ONwp

[

. B.BA
3. 8B,C. DA

4B, A, C,D
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 3421238669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

Identify the WRONG statements with reference to Losch's central place theory.

A It is suitable for distribution of central places with sparse distribution of settlements.
B. It is suitable for understanding the economic change in densely populated regions.
C. It assumes the coexistence of a large number of K’ factor values and hierarchies.
D. It is more valid for tertiary services than secondary activities.

Choose the correct answer from the options given below:

l1.A. BandD only
2.B, C and D only
3. A.Cand D only

4. A and D only
Options :
1.1
2.2
3.3
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4.4

Question Number : 93 Question Id : 3421238669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al & Ho1d B G & T H Tad S 1 ggd= o -

A. UE YTl & faRe fadRur & Wy b1 QYT & fder01 & fei Suge g
B. U8 YU SHEE dlcl &3 1 31 uRad &1 gH2H & it Sugdd 3|

C. gg H4d & o *K> SR Tl 3R UeTIh al & Yg3ided &1 Il g
D. I8 i fdiad fohanait o g gdiad daredf & fau sifds Sugded ¢

< e T 9l # 9 HEl SR &1 99 I
1. $Had A, B AR D
2. $Had B, C 3R D
3. Had A, C IR D
4. Had AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 3421238670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements about counter-urbanisation.

A. The people move from large urban areas to smaller urban settlements.

B. The people move from small urban areas to large urban settlements.

C. The processes have resulted in a renaissance in the demographic fortunes of rural areas.
D. The processes have resulted in a renaissance in the demographic fortunes of urban areas.

Choose the correct answer from the options given below:

1. Aand C only
2. A and B only
3. B and C only

4. C and D only
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Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 3421238670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fARId-=geru & f[a9d H |t HUAl D Ugd B

A, AT 98 e &A1 U B¢ gl SHiEarl | ofid g
B. ol B¢ gl &A1 ¥ &8 el SHfearyl # Si1d
C. 31 Ufchanaft & TR THIvT &5 & SHEiReI [ Hid™T | IuiTRUI g2 6|
D. 3 Uisharefl & URUMEEY Ued & & SiReTd ™ Yids H IR g3 8|

1 AU MU fdb el & 9 Hgt SR &1 94 DI
1. hdad A 3R C
2. Hdd A 3R B
3. HIAB 3R C
4. Had C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 3421238671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT
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LISTI LISTII
{Book) (Author)
A | Towns and Cities [ [Geddes
B. |The City in History | II. |Mumford
C. |Cities in Evolution | III. |Jones
D | Geography of Towns | IV, | Smailes

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-IIT, B-II, C-I, D-IV
3. A-IV, B-III, C-I1, D-1

4. A-II, B-IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 3421238671 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

T g II
(I=F)
2134 TUs fidTs I |39

e fad A feet 1 |7a®is

fafesi g gaiegEH | L[S
TSEMTe 31t T34 | IV. |Sie™

A fSu U fasmedl § U 9gt 30 &1 994 DIoIu:

1. A-I, B-II, C-III, D-IV

ola|w|e

2. A-III, B-11, C-1, D-IV
3. A-IV, B-III, C-1I, D-1

4. A-II, B-1V, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 3421238672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The workers engaged in secondary activities are also called

. Blue-collar workers

t-2

. Pink-collar workers

L8]

. White-collar workers

4. Orange collar workers

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 3421238672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fedrad Tfdfafeat o Gad SRl i IETHIE IR

1. AI-HIeR BTHTR

f-2

T[T [-BhIeR HIHIR

3. gUiG-dhIaR HIHNR

4. AR HIAR IR

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 3421238673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement about Von Thunen's Model of Agricultural land use is NOT
correct?

1. Intensity of land use declines with the distance from the market.

2

. The farmers have a full knowledge of the needs of the market.
3. In Zone-V, one-third of the land is always kept fallow.

4. In Zone-III. as the distance increases, there is a consequent increase 1n yield.

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 3421238673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST YT SN & i A Alsd & IR | Fafafad # 9 S8 Y- ¥gt 81 o2
FIR W &3 & W1 Y{H ST TeAd Y Bl Sl g

fHUH! & IT9IR B SeXdl &1 quf 919 gial B

&V B, Y &1 U (T SHRI WRd! Gl Sl g |

4. &1 |, S-S &3 dgdl €. TR # aRomAd: Sgiail gidi g

Options :
1.1
2.2
3.3
4.4

—

-2

L8]

Question Number : 98 Question Id : 3421238674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement about Weber's Theory of Industrial Location is NOT correct?

1. Transport, labour and agglomeration play major role in the location of industries.

t-2

. If both raw materials are weight loosing and market is at an equilateral triangle, the ideal
location for industry is in the middle of triangle learning towards raw material sources.

3. If both raw materials are weight loosing and market is at equilateral triangle, the ideal
location for industry is at market.

4. Isodapane is a line joining the points of equal additional transportation cost.

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 3421238674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 112/173



8/29/24, 9:54 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

deR & SIS HafUld (S & aR H FgicRad # ¥ 9 $YH T8t 961 o2
1. Il &1 Saieyfd o uRdeH, 49 Ud 9984 Ugd YiHdT My g |

2. 916 GIH T HId YR HH H dldl g 3R dIoR YHETg By IR g dl 3917 & fau
3MTe fafRyfd b= Arel & HIdl B 3R Febd gU By & 7eg H gl

3. 916 GHl T ATd HR &H BH dldl g SR dI6iR YHETE By IR ¢ dl 39 & fau
31e2l fafeyfd JeIR ghfl|

4. 313U Udh ¥l g Sil G HidRdd uldgH diTd & fa-gsfl &l Sisdl g
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 3421238675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following was NOT a characteristic of core-periphery model of development?

1. Unequal distribution of resources and development.
2. Periphery witnesses the growth earlier.
3. Cores have human and physical advantages.

4. Some areas develop faster than others.

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 3421238675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FgieiRad 9 4 & H T fdb & &=-uRiY arsd &1 fa=ivar Tef 4iv
1. 7! 3R [dHT b1 SRHHE fadror|

.U & ¥ g ugd ePTR gl B
3. 3= &3 & AFAY 3R Hifdd arH g
4. DIAYT &4, 34 DI a1 1 doil Y fdb Rid gid |

Options :
1.1
2.2
3.3
4.4

g

Question Number : 100 Question Id : 3421238676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements about energy resources are NOT correct?

A. Natural gas occurs only with oil in oil fields.

B. In an oil well, density of oil is found higher than rocks containing oil.
C. Bituminous is the most widely occurring grade as coal.

D. Russia has the largest gas reserves in the world.

Choose the correct answer from the options given below:

1. Aand B only

t-2

.B and C only
3. Aand D only

4. B and D only
Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 3421238676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Foll e & 9R H Efafad 9 o1 9 $YF Uel 761 8

A. TThidd T dad dd &3 4 dd & 914 18 Sl ¢

B. dd &3 T dd YR d- d1dd] I &1 ST dal bl U 3ied IR SIdl g |
c. [9eii—Y9 SIgd o1 qdiieis g S dredl UoR §

D. fay d =9 ¥ fa=medy 19 1SR ¢

1 feu U faseul & I Het SR &1 99 BIfoTL::
1. dd A 3R B
2. $HadB AR C
3. HAdASMRD
4. $ddB AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 3421238677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the WRONG statements about World Trade Organization (WTO).

A. Tt was formed to liberalise the world trade from high custom tariffs.

B. It is the only organisation at international level that deals with global rules of trade between
nations.

C. India is one of its founder members.

D. It is narrowing the gulf between rich and poor countries.

Choose the correct answer from the options given below:

1. Aand D only
2. A and B only
3. C and D only

4. B and C only

Options :
1.1
2.2
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3.3
4.4

Question Number : 101 Question Id : 3421238677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g% MR W3- & 9N H T DYAT $I UgdH Bl

A. 3D 7164 9% ATUR &1 3= YH1-Ledh ¢R® Y Gidd fea & (o8 fhar 1am o)
B. SRIPIY TR W Ug UHAE A1 3 Sl YT & ol AR & diya i 3 defed g
C. YRd 34 URUH-T5w § Y U g
D. U8 Y9 3R R4 2l & &g Wl $H & 81 g
I f6u U 9 edl § 9§ Tot IR &1 991 HIIU;
. Hdd A 3R D
2. had A R B
3. Hadd C ARD

4. HaAB AR C

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 3421238678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following development plans of India in descending order of their launch year.

A. Desert Development Program

B. Rashtriya Sam Vikas Yojna

C. Command Area Development Program

D. National Watershed Development Program in Rainfed Areas.

Choose the correct answer from the options given below:

l.A.BC. D

f2

AC. B, D
3.B.C.A.D

4.B,D,A,C
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 3421238678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HRA & FEiRad [de™ g 13 &1 37 ARH fhU 94 & ¥ & YR IX dRigl HH H
R B -

A. 5ER[d [dH1Y HridHH

B. ¥ I [dH1 gl

C. HHH &F [AH™ H1dHd

D. N[ 1T &= # AP TR fdhrg Sl H

A feu U fadedl § U 9l 3R &l 994 il

1.A,B.C.D

2.4,C8.0D

3.B,CAD

4.B.D.A.C
Options :
1.1
2.2
3.3
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4.4

Question Number : 103 Question Id : 3421238679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

was the 204 highest visited monument by domestic visitors during 2022-23.

. Red Fort, Delhi

f-2

. Sun Temple. Konark

L¥S]

. Qutub Minar, Delhi

4. Taj Mahal, Agra

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 3421238679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2022-23 & SR 9 Yl gRI GHRT Gy YD YA foodl 791 HRE |
1. Tl fobetr, feecdl

. $dd HHR, faedd

4. dlsl Hed, SRI

[

LS

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 3421238680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
(Index) (Equation)
A |Beta I |c/d
B. | B I |e/3(v-2)
C. |Gamma 1. |e/v
D. | Theta IV | TV

Choose the correct answer from the options given below:

1. A-I, B-IIIL, C-II, D-IV
2. AT, B-1, C-II, D-IV
3. A-IV, B-II, C-1, D-III

4. A-I11, B-1, C-1V, D-I1

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 3421238680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

0
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AT 1S 1Y &I 11 DT e Hifoy

A |die I |cd
B. |18 I |e3E-2)
C. |TTTHT III. |e/~
D. |dter V. | TV

A fSu U fasedl § O 9gt 3 &1 994 DIfoIU:

1. A-I, B-IIL, C-IL, D-IV
2. AL B-1, C-I1, D-IV
3. A-IV, B-1I, C-1, D-III

4. A-III, B-1, C-1V, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 3421238681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is often referred as ‘marginalised cultural® realm?

. Occidental Realm
2. Islamic Cultural Realm
3. Indic Cultural Realm

4. Meso-African Cultural Realm
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 3421238681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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9 © 9 @11 O Ui IReae: uRHsd &I Amifdd Sl g2
L. YT URHS T
4. T3 1+ Uik idd gRHSd

Options :
1.1
2.2
3.3
4.4

f-2

L8]

Question Number : 106 Question Id : 3421238682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The situation when people from a certain social background are denied to a particular facility is
called

1. Complete Exclusion
2. Explicit Exclusion
3. Selective Exclusion

4. Implicit Exclusion

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 3421238682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Uch HrATfoIeh YBYH & T fhd! U giqT &l o 9 did o3 &l f&yfd
degdldl gl

1. quf SigshR
2. W¥ SfeShR
3. FATHD Sfg™hR
4. Sfdfifed digsaR

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 3421238683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a characteristic of National Health Policy, 2017?

1. To achieve universal health coverage by collaborating with non-government sector.

t-2

. To increase government spending in health from 1.15% to 2.5% of GDP by 2025.
3. Strengthening of public health system is exclusive responsibility of the central government.

4. It relies heavily on private and voluntary sectors to fulfil its goals.

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 3421238683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e 7 9 1 11 AIPTg Wy Hifd-2017 BT Sficar Tg1 82
L. FIHIHe TR CRGHTA Bl TR IRBRT &7 & 1Y fierebR UIed BT
12025 AP WMBR] WA Wd DI Sleldl BT 1.15% U dgldv 2.5% B3|
3. UfedTh WA dF &l Holdd B3 had bg DR DI SHGRI B
4. U8 310 I=41 I R B b forg (51T 2R Widd &l R PIw] R S €

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 108 Question Id : 3421238684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The book “Geography of Peace’ laid the foundation of the concept.

. Heartland

t-2

. Rimland
3. S5ea Power

4. Air Power
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 3421238684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QX oI e g = Y o1 Dl Hid ]|
1. gleds

R ERIGH
4. gals 2fdd

Options :
1.1
2.2
3.3
4.4

[~

L8]

Question Number : 109 Question Id : 3421238685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a determinant of voting behaviour in India?

l. Caste of Candidate

t-2

. Age of candidate
3. Charismatic leader

4. Party of the candidate

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 3421238685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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7% © ¥ @19 91 YRA H AdeM FdeR d HuR® 781 82
1. HIgaR DI SIfd

. SHIGAR & 2Mg

3. JHDRI Adl

4. SHIGIR BT g

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 110 Question Id : 3421238686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the headquarters of the following Regional Organisations from Equator towards North
Pole.

A. SAARC
B. ASEAN
G OFEC
D.EU

Choose the correct answer from the options given below:

1.B,A,C,D

B

A B D

3D.C.B.A

4.C,D.A, B

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 3421238686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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14 UG WreH! & Grearadl & YA a1 9 STl 4d Bl R HaiRUd HIfu|

A. Tl
B. TR

C. 3ilud®
D.3g
e fou U faeweul ¥ 9 TEl IW &1 99 DI
1.B,A,C,D
2.A,B,C,D

3.D,C,B,A

4.C,D.A.B

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 3421238687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the statements which are NOT correct about frontiers and boundaries.

A. Boundaries are two dimensional while frontiers are three dimensional.
B. Boundaries are “de facto' while frontiers are “de jure’.

C. Boundaries are maintained by state and has no material existence.

D. Frontiers occupy a fixed position and their boundaries can not be altered.

Choose the correct answer from the options given below:

1. B and D only

f-2

. A and B only
3. B and C only

4. C and D only
Options :
1.1
2.2
3.3
4.4
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Question Number : 111 Question Id : 3421238687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

39 ®YAl DI UgdHE &3 S UAfdl 3R drare & 9R J 951 ol o

A. Tt fgfaig gidt € Siafe dHid Afadig gid S|

B. AU 31 B! Fdid WAl S ¥R |

C. TIATE Ig] gRI1 YR B 1t 8 duT 391 dis Hildd 31idd ol gidil
D. UHidl &1 uep [ i gidl € au1 34! Y g6l Jol o Udbd! |

e feu T 9l # 9 HEt SR &1 99 HIT:
1. $ad B AR D
2. HIA A R B
3.$adB AR C
4.Hdd C AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 3421238688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements about geo-politics of Indian Ocean.

A. World Super Power (USA) has showed no interest to mark its presence in Indian Ocean.
B. A very little part of world oil trade passes through Indian Ocean.

C. Bay of Bengal had been named according to dominant power of India in past.

D. The quasi-naval bases developed by China in Indian Ocean are called *String of Pearls’.

Choose the most appropriate answer from the options given below:
1. A, Band C only
2. B and D only
3. C and D only

4. B, C and D only
Options :
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1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 3421238688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR GNIR &1 YIS0 & R H 98l dud 4HU|

A. T B HeRIfad (J T8 T) 5 YR AgMIR § Suflifd 3 &is 3=81 ¢! faars g1
B. AT & dd AR &1 dgd BT g8 YRA HgNTR J TeRd ¢ |

C. YddId § YRd &l YYd Aldd & YR Sl DI @IS! DI AHHI0 g3 ¢ |

D. fg= HeNIITR ¥ dH gR1 [dbRId 3f<- A1 YR &l <R 3 Uel del Sidi g |

- feu U faseut # 9 Uel SR &I 999 DT
1. Had A, B3R C
2. %dd B AR D
3.9 C 3R D
4. HdAB, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 3421238689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Language) (Linguistic Family)
A | Bhili I |Indo-Aryvan
B. | Gondi II. |Austro-Asiatic
C. [Khasi IT1. | Tibeto-Burmese
D |Lahauli IV | Dravidian

Choose the correct answer from the options given below:
1. A-IV. B-1, C-III, D-II
2. A-IV, B-II1, C-I1, D-I
3. A1, B-II, C-III, D-IV

4. A-1, B-IV, C-II, D-TIT

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 3421238689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

1 Il
Egn (mﬂgﬁvﬁﬂm
A | Hich I |gsl-am
B. |7ifSt I |3Re-uRmes
C. |wrdt 111 |fosal-a g
D. |arEret V. |sidfeTT

i feu U fae el § 9 T8t SR &1 994 DifIT:
1. A-IV, B-I, C-III, D-II
2. A-IV, B-IIL, C-II, D-I
3. A1, B-II, C-IIL, D-IV

4. A-I, B-IV, C-1I, D-1II

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 3421238690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The statement “All history must be treated geographically and all geography must be treated
historically” was given by

. Varenius
2. Ritter
3. Herodotus

4. Humboldt

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 3421238690 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

DY ~gUE 2fdgry &l Hiifad efF 9 <ar ofHr 91fgu SR Yo iiid &l Ufdgiils <P 9
&1 ST dige” FRACRIRIRIRIN

1. g
2 R

3. glleley
4. gHelee

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 3421238691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Davisian concept of cycle of erosion was inspired by the central idea of the book published
by

. Clements
2. Darwin
3. Fleur

4. Haeckel

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 3421238691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3URGA b B SANTT HhedHl SRT USRI §&P & b=14 [daR T URd 211
L. Felidy

gt

3. TR
4. 809

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 116 Question Id : 3421238692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following perspective of geography emerged as a part of Radical-Marxist
orientation of human geography.

1. Behavioural Geography
2. Positivism
3. Feminist Geography

4. Quantitative Revolution

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 3421238692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I &1 FEfRad # U ST P10 HHd W & RA-ATRIdIG] 3HAIHR01 & HRT &
U H IgYd g3l

1. dgRalq! Hid
2. YHéldiq
3. ARTGTG! 1T

4. AEATHSD hifd
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 3421238693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

was NOT associated with behavioural movement in Geography..

1. Harvey

(]

. Gould

L

. Wolpert

4. Pred
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 3421238693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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v H HdgRAe icier 9 Seg el Ul

r2

EEE

4.
Options :
1.1
2.2

3.3
4.4

Question Number : 118 Question Id : 3421238694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The statement, “Supreme achievements of civilizations in any region were always bounded up
with a particular type of climate™ in favour of environmental determinism was given by

1. Darwin

]

. Semple
3. Huntington

4. Ratzel
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 3421238694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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qTdTaRv e & g o oy <fhdl & © quadisil ©f Ydi= Suaisal ghRn fhdl 9y
JbR I Seldrg gRT dirdied 4 &1 fedn T |

1. B1fdq

=

2. HqHcl

3. gfeTred
4. Jeold

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 3421238695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Indian scholars in correct chronological order of their birth.

A. Bhaskaracharya
B. Varahamihira
C. Aryabhata

D. Brahmagupta

Choose the correct answer from the options given below:

1.C,. B, D, A

[

B, Bk
348B, €D

4.D A B, C
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 3421238695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Fafafad YR f[9gMl &1 396 99 & YR IR SHIAD TR HIYd H1 |

A, HREEH
B. RBARR

C. 3Yg
D. slel'ld
- fSu U fadeal # U It 3R &1 99 DT

1. C. B, DA

2B C. DA
34.B, €D

4. D,AB,C

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 3421238696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements about Schaefer-Hartshorne debate.

A. For Hartshorne, geography is what geographers have made it while Schaefer worked on
what geography should be.

B. Schaefer promoted the study of areal differentiation while Hartshorne favoured
exceptionalism in geography.

C. Schaefer advocated for formulation of laws in geography.

D. Schaefer was against the application of positivist methods in geography.

Choose the correct answer from the options given below:.

1. A and B only

t-2

. A and C only
3. B and C only

4. C and D only
Options :
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1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 3421238696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QAPR-GIETH ale-[3d1E & aR ¥ U5l dul &1 ugdH |

A a@wﬁ”ﬁ%%ﬂﬂfﬂmaﬁ%ﬁwﬁaﬁwﬂﬂ%mﬁﬁm# ITIe T §iHTT TRl
R B fhar|

B. B3 A &1 faved & 3eqgd ol d¢rar faar Sidid grexii- = Wi ¥ Sfudicdie &1 Ug
ferar

C. HR A YN | Fai & (8701 B gdbred $i i

D. /R YITTd H UAeare]! faferi & s & faeg 4|

- fau e fasedt # 9 9gl SR &1 999 DI
1. Hdl A 3R B
2. HdA AR C
3. HIAB AR C
4. Had C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 3421238697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the statements which are NOT correct about Dualism in Geography.

A. For the first time, geography was divided into General and Special geography by Humboldt.

B. Hettner claimed that geography is idiographic in nature than nomothetic.

C. Humboldt was the founder of systematic geography while Ritter favoured regional
geography.

D. Ratzel was obsessed by the concept of interdependence of things rather than genesis of
things.

Choose the most appropriate answer from the options given below.
1. A and B only
2. Aand D only
3.B and D only

4. B and C only

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 3421238697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

31 DYl Dl UgdH B3 Sl Yiid § gadle & R d T gl g2

A. YTTIE I AT 3R A= e § Gauyd giaiee gRI [qHIford fasar ar 4T
B. SR H gl {1 o Yliel Ul & S0diyd &1 oIy &19dTR® g |

C. gHlee AT YIId & YIS 4 Said Rex 7 USRS Yiid o1 ugf femn
D. ¥&od dIell Bl IR B golld dioll bl SRAURAI Bl GhedT gRT 3fHYd U1

e feu 1T fdehetl 7 9 FEt SR b1 99 ST
1. had A 3R B
2. Hdd A 3R D
3.%adB AR D
4. HIAB AR C

Options :
1.1
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2.2
3.3
4.4

Question Number : 122 Question Id : 3421238698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
(Scholar) (Achievement)
A | Ferdinand Magellan| I | Showed both America's as separate continents on world map
B. |Captain Cook II. | Proved the idea of heliocentric Universe
C. | Galileo ITI. | Located the terra-incognita of Ptolemy.
D. | Waldseemuller V. | First to circumnavigate the world.

Choose the correct answer from the options given below:

1. A-IV, B-11I, C-II, D-I
2. A-III, B-1V, C-1, D-II
3. A-IV, B-III, C-1, D-II

4. A-1, B-II, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 3421238698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

I I
an L
FeHs WeH| L |3y gk W ! SR B e HeEid & ©U H guin
BT D 1. |Qdof=d genvs @ faar Wi faor
BIINE] 101 |SiciH! ®f cU-SdIiel of ayd faar
gresdrer | IV. | fay 1 URepHI B dTa UyH Sfdd

A fSu U fasmedl § U 9gt 30 &1 994 DIoIu:

1. A-IV, B-1II, C -II, D-I

ola|w|e

b2

. A-IIL B-1V, C I, D-1I
3. A-IV, B-III, C -1, D-1I

4. A-1, B-11, C -III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 3421238699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is used to identify the sphere of influence of towns or cities?

1. A variant of flowline map.

t-2

. Choropleth map

L8]

. Isarithmic map

4. Chorochromatic map

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 3421238699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafciRad o 9 fuahT IugiT S I1 AR & UHIG &7 DI Ugd B & fed T Sl g2
 gaTgal A &1 U Ufaey

. 3gRE e AFREE

4. DRIBIHCH UHRTH

Options :
1.1
2.2
3.3
4.4

—

f-2

L

Question Number : 124 Question Id : 3421238700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Geometrical figures shaping the raster cell and completely covering a flat surface are called

—

. elemental points

I

. buffering
3. tessellations

4. digital line graphs

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 3421238700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IR YAl Bl STHR & dell 3R fh 8! Grdd Tdg &l Quiaal Sr=1iGd HR- dral sariiad
Apfadi  Hgdardl gl

1. difcdh fag

2. IR

3. WA

4. f8fSTed v s

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 3421238701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following spectral band of Landsat-1 is generally NOT used for production of
colour composite?

1. Band 4
2.Band 6
3.Band 7

4. Band 5

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 3421238701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ﬁ%@%ﬁﬁﬁﬁffﬁ@ﬂﬁ@f S W d o8 G qui T GiHTy & fou ugdd =ai fhar
SIIdl 87

1. 88 4
2. 436
3. 487

4.93 5
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 3421238702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The road width on the ground is 60 feet while 2 inches on the aerial photograph. The scale of the
aerial photograph is

1. 1:3600
2.1:360
3.1:120
4.1:1200

Options :

1.1

2.2

3.3

4.4

Question Number : 126 Question Id : 3421238702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ERITA R ISP ﬁ%ﬁaﬁﬁnuﬁﬁmﬁ?a@mﬁzﬁﬁlmﬁm
|

1. 1:3600
2.1:360
3..1: 120
4.1:1200

Options :

1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 3421238703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements about techniques used in mapping the Terra.

A. Clinographic curve illustrates the average gradient between successive contours and shows
up prominently any abrupt change in the general relief depicted on a map.

B. The relation between horizontal and vertical scales is known as horizontal exaggeration.

C. A profile drawn along the stretch of road, or a river, is called longitudinal profile.

D. A cross profile gives a panoramic view with a distant sky-line, a middle ground and a fore-
ground.

Choose the correct answer from the options given below:.

1. A and B only
2. B and C only
3. Aand C only

4. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 3421238703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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&7 TR T W ddb-iidl & S 1 T8t Syl & Ugd &l

A. FARAIIGS e, Iuddl W ¥@rsii & sid 3d gIel Waurdl & S=iidl g 9yl
HHRE H FRE0d IEr 3=iad | fhdl 3/ gikdad & Tddl J S2iidi g |

B. &SIy 3R FHeaieR Aaa! 6§ a9 ol Afdsiiy Hfqhd & =9 6 SHE S gl

c. [&dl Yso A1 -d] & WUS & Y DS TR [GPHT SRRI DI S g a1 34 e
OR8] dHel SIdl |

D. VR UR=SGHT, IR HIHRI-IG], U T Y133 3fR U 3113 S & 1Y [9gmy
e U Bl g |

- fau U fasett # 9 Iet SR &1 997 DI
1. Pdd A 3R B
2. $HIdB 3R C
3. PIdA AR C
4.9ad C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 3421238704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify correct statements about Chi-square test.

A. It is a parametric test.

B. The null hypothesis states that the difference between the observed and expected frequencies
1s not significant.

C. Rejection of null hypothesis indicates that differences between observed and expected
frequencies are real.

D. To reject null hypothesis the tabled value should be greater than computed value ot a Chi-
square.

Choose the most appropriate answer from the options given below.
1. B and C only
2. Aand B only
3. B and D only

4. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 3421238704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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DIe-37 TR0 & IR H TG HYHl Bl UgdH Hil

A. U8 U HHGUSIY U4 5

B. I TR & TUR UfEd 3R YA mafrl & o ofk gyl T8l ¢

e %ﬁﬂﬁm‘ﬂﬁ 3Rl &Il © far Uierd SR uanf2rd smafeal & die ofdR ardidds
|

D. Y UR& AT 3R d HIH & 00 difdidldg O, Sig-a7 & TUET U U AF I
3ifYe gI-l =migul
d feu MU g eul o 9 Tgt SR &1 98- BHIfIT;
1. Had B 3R C
2. Had A 3R B
3.Had B AR D

4. Had C AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 3421238705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following developments in remote sensing in chronological order.

A. Google Earth serves Digital-Globe and Landsat TM data.
B. SPOT! launched.
C. ERTS-1 launched
D. IRS-1C launched.

Choose the correct answer from the options given below:
1. ABC. D
2.D,C,B, A
3.B, DA C

4.C,B.D. A

Options :
1.1
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2.2
3.3
4.4

Question Number : 129 Question Id : 3421238705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

X Yda H afiiRad f[as ™l &1 SIabHTER Saiyd &1

o oy

A. T 319, feolled oild 3R dsde dud S1er &f a1 e $dl |
B. SPOT 1 did f&ar mar|
C. ERTS-1 A fohar man|
D. IRS-1C o fdar 7|

14 13U T fae el | 9 gl IR &1 994 HIU:

1. A, B, C.D

2D C. B A
3B, DA C

4.C,B.D. A

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 3421238706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Spectral Resolution {pum)}) {Band Utility)
A | 0.841-0.876 1. |Leaf-Area-index mapping
B. |0915-0.965 II. | Atmospheric Water Vapour
C. [1.360-1.390 III. | Cirrus Clouds
D |13.183-13 485 IV | Cloud-top altitude

Choose the correct answer from the options given below:
1. A-I, B-IIL, C-IV, D-II
2. A-1, B-II, C-III, D-1IV
3. A-IV, B-III, C-II, D-I

4. A-IIT, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 3421238706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I 1I
ﬁ‘aﬁﬁﬁgﬁ(um)) é@%
A |0841-0876 L |Uuie-&-gdobic HIFRA
B |0915-0965 II. |9igAvSHIY Saard
C. |1.360-1390 1. | T&TY oY
D. [13.185-13.485 | Iv. |To i Ioaiam

A fSu U fasedl § O 9gt 3 &1 994 DIfoIU:

1. A-I, B-1II, C-IV, D-II

2. A-L, B-1I, C-IIL, D-1V

3. A-IV, B-III, C-1I, D-1

4. A-III, B-1V, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 3421238707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Among the following, the

1. Aravali Range

t-2

L8]

. Satpura Range

. Vindhyan Range

4. Mizo Hills

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 3421238707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

has the highest peak.
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EEIRICRREE o I=gad dict g
SR 2R
fde oRge
4. Tooll Terrsal

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 132 Question Id : 3421238708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The origin and mechanism of South-West Monsoon is NOT associated with

1. differential rates of heating and cooling of land and sea.

t-2

. Upper air circulations
3. western disturbances

4. ENSO
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 3421238708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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IR afae AYE 31 3 3R ufdan I s Tol o
Y 3R UFR & S8 3R 2idad @1 fafis &
SR I IR

3. G faefi

4, G191 (ENSO)

Options :
1.1
2.2
3.3
4.4

—

f-2

Question Number : 133 Question Id : 3421238709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At present, in total foodgrain (includes cereals and pulses) production the share of Kharif and rabi
crops is

1. almost equal
2. Highly unequal
3.mratioof4: 1

4 mratioof2:1

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 3421238709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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aﬁqﬂﬁ,gﬁ%@m(mﬁ?mﬁﬂ%m%wﬁmaﬂ?wﬁwﬁw%@
|

L. ITHIT HHIA

D HH

I

41 3O H
4.2: 13U H

Options :
1.1
2.2
3.3
4.4

L

Question Number : 134 Question Id : 3421238710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Among the following the percentage share of commodity group was highest in
major imports of India during 2021-22.

l. Electronic Goods
2. Edible Oil
3. Chemicals

4. Transport equipments

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 3421238710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2021-22 & GRM YRd & rdl § Fafead § ¥ %] Y $T ufawrd fge
ey 3P o1

1. SRS &Y
2. @ dd

3. XHEA

4. giRdgd IUDHI]

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 3421238711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Land reforms did WOT address the issue of

1. the presence of intermediaries

2. uneven distribution of land

L8]

. upgradation and updating of land records

4. dependence of Indian agriculture on monsoon

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 3421238711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LERCINE| @ g e g A

f-2

L8]

4

 Hegafdal &1 uffd

YA 1 3 HM fadvo

Y S1f¥reial &1 A 3R fd-IhRul
YA IR URA HiY &l

Options :

1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 3421238712 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

The crop region of

1

t-2

. Cotton

. Rubber

. Tea

4. Jute

Options :

1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 3421238712 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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B By &3 HRd H 3o 90T & &F db Hiid el g

1. U

f-2

dS
3.9

4. 4cyd
Options :
1.1
2.2

3.3
4.4

Question Number : 137 Question Id : 3421238713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following forest cover types of India in descending order of their areal extent.

A. Tropical Wet Evergreen Forest
B. Tropical Dry Deciduous Forest
C. Tropical-Moist Deciduous Forest
D. Tropical Semi-Evergreen Forest

Choose the correct answer from the options given below:

1. C.B, A D

t-2

B G, B

3B, CAD

4.C.B.D. A
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 3421238713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YR & FEiRad IR0 USRI &l 3dh &g fadR & fdRig HH H Haied d1|

A. SUTHICEHY 3¢ YalagR a4
B. WG ICH Y b GuiUTcl o
C. IUHICE T 91 guiurd a4

D. IWGICH4Y 3<S-UaEegR a1

A f6u U f[ddedl # O gl 3R &1 994 HIIU:

1. C.BA D

[

BE DA
3B KD

4.C,B,D, A

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 3421238714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements with reference to population composition of India, based on
Census of India, 2011.

A. Sex ratio in Gujarat and Himachal Pradesh was more than the national average.

B. The level of literacy in Uttar Pradesh and Andhra Pradesh was more than the national
average.

C. The share (%) of Buddhists in the population of Sikkim 1s more than the share of Muslims in
the population of Uttar Pradesh.

D. The share of Sikh population in Chandigarh 1s more than 10 percent and in Haryana it is less
than 10 percent.

Choose the correct answer from the options given below:

l.A.Band D only

2

.B. C and D only
3. B and C only

4. C and D only

Options :
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1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 3421238714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SUET 2011 & YR TR HRd S S8 bed & e H 98l syl & UgaH Hi|

A. TToRTd 3R feAr=e Jo=r H femurd g 3iud ¥ it ol

B. STRYG 3R 18y T H WIERd W AP 3 ad § 3ifer o0m)

cﬁ[ﬁ%%ﬁ ST H il BT 3T (0%), SR UG &1 wieen # g & e 9
3D gl

D. 93¢ H ed SHe] &1 fg w10 Uid=rd ¥ Sifeid SR gRAmn # 10 Ufa=d ¥ &H ¢

- feu U fadh et # § UEl SR &1 999 DI
1.®dd A, B 3R D
2. Hdd B, C 3R D
3. HddB AR C
4. Hdd C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 3421238715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify correct statements with reference to transportation in India.

A. The share of road transportation is more than the share of rail transport in passenger traffic.

B. Development of economic corridors and multi-modal logistic parks are key components of
the Bharatmala Project.

C. Under the Sagarmala project, a new mega port will be developed at Belikeri on Tamil Nadu
coast.

D. The National Waterway number 5 is currently being developed in Goa to transport iron ore
to Marmagao port

Choose the correct answer from the options given below:

1. Aand B only

t2

. A, Band C only
3. B, C and D only

4. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 3421238715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YRd ¥ uRdgd & deH H Ul duHl &f UgdE B3|

A. TEH ¢ftheh | TS URag o fgw, ¥ IRagd & e ¥ 3ifta T
B. SIS TRT 3R 95-HISH AMGIRCS U 1[I HRGHTS RIS & T ST
c.%mﬁmmmméﬁﬁﬁmwmﬁﬁm
D. ww%wmm 5 A A H AT Ot dd dig 3 URdg & ferg miar #
faTd fhar ST ET g |
d feu e fddhedl o 9 91 SOk &1 999 DifSie:
1. Hdd A 3R B
2. hdd A, B3R C
3.Hdd B, C AR D

4. %hdd C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 3421238716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LIST1 LISTII
(Hazard) {(Prone Area)
A | GLOF [. |Odizha
B. |Landslide II. [Kutch
C. | Tropical Cyclone | III. | Sikkim
D |Earthquake IV | Western Ghat

Choose the correct answer from the options given below:
1. A-IV. B-III. C-1, D-II
2. A-IIL B-TIV, C-I1, D-I
3.AIL B-IV, C-L DA

4. A-IV, B-III, C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 3421238716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

oren | awam

A |Situd e e (GLoF) | 1 |sfifsan

B |y&acH I |&ss

C. |SWimicseg Ishard | 1L | Hfeea

D. | YU IV. |Tfgeigre

i feu U fas et § 9 I8! SR &1 994 DifIT:
I. A-IV, BIIL C-I, D-II
2. AL B-IV, C-II, D-I
3. AL B-1V, C-I, D-II

4. A-IV, B-111, C-1I, D-1

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 2
Sub-Section Id : 342123343
Question Shuffling Allowed : No

Question Id : 3421238717 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

The map displaying the distribution of objects/elements by using different colours are known as
the Colour Patch Maps or the Choro-chromatic map. They are of three types based on colour
selection and shading. In the first type of maps various areas are shown by selecting any random
sequence of colours, arbitralily, and they are called Simple Colour Maps. In the second type of
choro-chromatic types, the maps are prepared by using standard colours of international colour
scheme. The third type of maps are prepared using Layer Tint Method where multiple densities or
shades of the same colour are used to highlight various properties. The method of displaying the
distribution of elements with the help of different shades of the black colour is used in the
distribution map. This method is similar to colour patch method. The method of displaving the
distribution of elements through pictures in the distribution map is called the pictorial method.

Sub questions

Question Number : 141 Question Id : 3421238718 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Political map of India is an example of

1. International Colour Scheme Map
2. Layer Tint Method Map
3. Simple Colour Map

4. Choropleth Map

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 3421238719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In topographical maps of India, plateau is shown with the help of colour
1. Yellow
2. Dark Brown
3. Light Brown

4. Red
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 3421238720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a characteristics of Simple Shade Method?

1. Variations of distribution are shown by using shades of any colour.
2. Variations of distribution are shown by using shades of black or black and white scheme.
3. Variations of distribution are shown by using sketches or graphics based on pictures.

4. There is no difference between Colour Patch Method and Simple Shade method.
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Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 3421238721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following i1s NOT a qualitative method of map making?

1. Chorochromatic

[

. Choropleth
3. Choroschematic

4. Color-Patch
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 3421238722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Map showing the major mining centers of India for different minerals is an example of

1. chorochromatic maps

]

. choropleth maps
3. choroschematic maps

4. Isopleth maps

Options :
1.1
2.2
3.3
4.4

Question Id : 3421238717 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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frafefad e tees vl & IR difve -

ag g Sl 6 e T BT W S aegail/ddl & [GaRul B UeRH &2 3¢ IRl
A (SR Ud JW) g1 &GS GFE (@RI-hE[ES J) &gl Srdl g1 d 31 9949 3R
BIHT & HYR W I YBR & gid ¢ TUH SR & AFRE 1 fhdl arewss 31 & b d
&1 904 W3l § axeb fafqy &zl o fearan Sidn g o/ QR $iH AFRT $gd ¢ gae
TR & HRI-BIHCE THRI H, IRIFTT T AN & AFS 31 & UAIT ¥ AR S-Sl
S| diY UHR & HFERE! &1 Ud 3UTHT U0TTel (R [de HYS) & WA d 9911 Sl § Slel
U ol 1 DI UHIYD 99 U1 ST & WART Y [dfae [IR9did 3SR &1 1l o | il 30 $i
T S ®i Hag Y ddl & [darvl B fgifdd @+ @f fafe & fdaeo aqraa § uan
fpan <7 g1 gg fafy e fafY & 9aE g1 El gR1 fadror 9Ea # 9@l & [dav &
uaRH &l fafe &1 9= 3 Hgd S|

Sub questions

Question Number : 141 Question Id : 3421238718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR HI e AHE FEd I ISRV G|
L. SRRIYI T ST AR
2. TRA ATHT YOIt A=
3. QYR I AF A
4. DRICY FFf

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 3421238719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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URd & WAGIdd AARA H. U8R DI WSl Aeg Y [Ga™ Sdr g
1. Gic

RIIHET

b

4. dled

f-2

L8]

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 3421238720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

79§ O D= I "R e fafy &f fafkpa g
1. Tt i 37 31 STATHYE ST TaRT S [Garol &t f[afgydie o i@ S g |

2. BITHN &1 Hlcil AT Hlcil 2R T i1 &l T S faarur &f fafaedradi &1
=T ST g |

3ﬁﬁf%¥aﬂﬂrﬁaaﬁrﬂaﬁ[mmaﬂmmﬁwaﬁﬁﬁw&ﬁaﬁm
ST gl

4. 37U 1319 3R WreyRu S afd H# &1 3R Tl ¢l
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 3421238721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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9 1 O $F U AR 99 &1 o 97 81 82

r2
.E.

3. HRIGHCD
4. HER-U
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 3421238722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR & (91 WSl & T G- s &l GRIH arel AH= EAREHRUNR
| BRI IAfeH AT

2. BRI AFRA
3. HRIRPHICS AARA

4. Y HHRH
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3

Sub-Section Id : 342123344
Question Shuffling Allowed : No

Question Id : 3421238723 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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The concept of town can be understood with reference to village. Population size is not the only
criteria. Specific functions such as manufacturing, retail and wholesale trade. and professional
services exist in towns. A city may be regarded as a leading town which has outstripped its local
or regional rivals. The city is in fact the physical form of the highest and most complex type of
associative life. Cities are much larger than towns and have a greater number of economic
functions. The term conurbation is applied to a large area of urban development that emerges due
to the merging of originally separate towns or cities. The number of million cities in the world
were 162 in the mid 70°s and by 2030. a projected 662 cities will have at least 1 million
residents. Megalopolis is a Greek word that means “"great city’. It signifies “super metropolitan’
region extending as union of conurbations.

Sub questions

Question Number : 146 Question Id : 3421238724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term conurbation was coined by

1. Geddes

]

. Gothman
3. Mumford

4. Griffin
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 3421238725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term ‘megalopolis’ was popularised by

. P. Gaddes

t2

. L. Mumfard

3. J. Gottman

4. H. Pirenne
Options :
1.1
2.2
3.3
4.4
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Question Number : 148 Question Id : 3421238726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Urban landscape stretched from Boston to Washington in USA is the best example of

1. Conurbation
2. Megalopolis

3. City

4, Town

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 3421238727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the Census of India criterion i1s NOT used to differentiate urban from rural.

. administrative

t2

. demographic
3. social

4, economic
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 3421238728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following city was NOT a million city of India as per Census, 2011?

l. Surat

t2

. Dehradun
3. Ranchi

4. Kota
Options :
1.1
2.2
3.3
4.4

Question Id : 3421238723 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

frafafaa e teos wal & SwR difse -

Tid & e ¥ e Bl YRON ST YU S Ybd[ ¢ | ST YRAT Udh T1 HUicT 98l 3|
3G, Hed fdpl, Uldh AR 3R AT a1t oY [k o gl § fagqu- g1 teh
TR S 310 - sryar &g ufagdl ol dis @1s a1 ¢ 34®! U g% e’ 91 Sl
Gl g1 Ik WER gdR! Siigd &1 9ad sified 3R J=Iad Yifds @WEY g1 IR el °
S8 92 Bid ¢ IR 2nfiie Bl 31 e GO 378 SRR gidl ¢ | el ey o1 9gd 9o
&3 Sl fob gl =0 3T 31l Qe 3R TRl & faad- 9 341 8. 3 IR g “DHHAREZ
AN BIdT €1 70 DI g & A fay H fAferg el & I= 162 0 2R 2030 0 T
TRAIad 662 TERT & U @ 1 fAferss fardt g e wee Amarifer &1 3 9gd
aa%éaaaﬁ%ﬁm@?—ﬂ@ﬂﬁﬂ; &1 Sl fob BFRAYAT & WY TP el ¢ DI dfoid
Al gl

Sub questions

Question Number : 146 Question Id : 3421238724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AR (BRI BT g FNRIERIEIEIT
RIS

3, AAGIS

4. fgfthT

Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 147 Question Id : 3421238725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[eg AT B! GIRT TIIh {5 ST |
RIS
2. Td. HHHIS
3. 9. TMeEA
4. T, foRT

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 3421238726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g .UY.U. 1§l Y qiiRite db Bl g3 Wesl Ukexy GARCE RSN
1. R
Ty

3. T4t

f-2

4. <134

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 3421238727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hﬂ?ﬁéquﬁmmuaﬁﬂmﬁqwaﬂﬁéaﬁu YR BT UG g1 fhd
SIGIE

L. URIH®
2. SFHiRIR Y
3. GHINS

4. 31

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 3421238728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SHITUMET 2011 & SR DIH I TR YR &1 fferad [d =81 g2
Rd
GBI

—

f-2

I
4. DIl

Options :
1.1
2.2
3.3
4.4
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